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TNPSC GROUP I – TEST BATCH 2022 
TEST I – 6, 7, 9, 11TH (vol-1) STD HISTORY 

 
1. Choose the correct statements about Ashoka 

I. It was during his period that Buddhism spread to different parts of Asia 
II. He was the first ruler to giveup war after victory 
III. He was the first to build hospitals for animals 
IV. James Princep wrote a book titled the search for the India’s lost emperor. 
a. I, II, IV  b. III, IV   c. I, II, III   
d. I, II, III, IV  e. Answer not known 
mNrhfh; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. ,tuJ Ml;rpay; jhd; Gj;jkjk; Mrpahtpd; gy;NtW gfjpfSf;Fg; gutpaJ. 
II. ,tNu ntw;wpf;Fg; gpd; Nghiuj; Jwe;j Kjy; murh; 
III. cyfpNyNa Kjd;Kjyhf tpyq;FfSf;Fk; jdpNa kUj;Jtkid mikj;J 

je;jth;  
IV. N[k;]; gphpd;nrg; jdJ The Search for the India’s Lost emperor vd;w E}ypy; 

mNrhfh; Fwpj;j midj;J tuyhw;W Mtzq;fisAk; Nrfhpj;J ntspapl;lhh;. 
a. I, II, IV  b. III, IV   c. I, II, III   
d. I, II, III, IV  e. tpil njhpatpy;iy 
 

2. How many pairs are correctly matched? 
I. Usilampatti – Madurai  II. Keelvalai – Coimbatore 
III. Mavadaippu – Villupuram IV. Karikaiyur – Nilgiris 
a. 1 pair  b. 2 pairs   c. 3 pairs 
d. 4 pairs  e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahfg; nghUj;jg;gl;Ls;sd? 
I. crpyk;gl;b – kJiu  II. fPo;tiy – Nfhak;Gj;J}h; 
III. khtilg;G – tpOg;Guk;  IV. fhpf;ifa+h; - ePyfphp 
a. 1 ,iz  b. 2 ,izfs;   c. 3 ,izfs; 
d. 4 ,izfs; e. tpil njhpatpy;iy 
 

3. Consider the following 
Assertion (A): The researchers conclude that Harappa was older than Mohenjo Daro 
Reason (R): Some slight differences are found in the earthernwares of Harappa and 
Mohenjo Daro 

a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true and R false 
d. A false and R true 
e. Answer not known 

  



 

2 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

gpd;tUtdtw;iw Muha;f 
$w;W (A): Muha;r;rpahsh;fs; `ug;gh ehfhpfk; nkh`Q;r jhNuhit tpl goikahdJ 
vd;w KbTf;F te;jdh; 
fhuzk; (R) : `ug;ghtpYk;> nkh`Q;rjhNuhtpYk; fz;Lgpbf;fg;gl;Ls;s 
kl;ghz;lq;fSf;fpilNa rpwpa msT NtWghL ,Ue;jJ 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
 

4. Choose the correct statements 
1. The ruins of Harappa were first described by Alexander Cunningham 
2. In 1924, Sir John Marshall found many common features between Harappa and 

Mohenjo Daro 
3. The Archaeological survey of India was started in 1861 
a. 1, 2    b. 1, 3    c. 2, 3  
d. 1, 2, 3   e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
1. `ug;gh efuj;jpd; ,bghLfis Kjd; Kjypy; fz;lwpe;jth; mnyf;]hz;lh; 

fd;dpq;fhk;. 
2. 1924Mk; Mz;L rh; [hd; khh;~y; `ug;ghtpw;Fk; nkh`Q;rjhNuhtpw;Fk; ,ilNa 

nghJthd mk;rq;fs; ,Ug;gijf; fz;lwpe;jhh;. 
3. ,e;jpa njhy;ypay; Jiw 1861Mk; Mz;L njhlq;fg;gl;lJ. 
a. 1> 2   b. 1> 3    c. 2> 3  
d. 1> 2> 3  e. tpil njhpatpy;iy 
 

5. Which of the following statements are incorrect regarding the uppertown of Harappa? 
I. The part of the city to the west was higher and it was called citadel  
II. Greatbath and Granaries are located  
III. It was inhabited by common people 
a. I only   b. II only   c. III only    
d. None of these   e. Answer not known 
fPo;f;fz;l $w;Wfspy; `ug;ghtpd; Nky;efu mikg;G Fwpj;J jtwhdijj; Njh;e;njL 
I. efuj;jpd; Nkw;F gFjp rw;W caukhdJ kw;Wk; mJ rpl;lhly; vdg;gl;lJ 
II. ngUq;FsKk; jhdpaf;fsQ;rpaKk; ,Ue;jd. 
III. ,J nghJkf;fs; trpf;Fk; ,lkhf ,Ue;jJ. 
a. I kl;Lk;   b. II kl;Lk;   c. III kl;Lk; 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

6. Which of the following place is the precursor to Indus Civilization? 
a. Lothal  b. Kalibangan   c. Dholavira 
d. Mehergarh e. Answer not known 
rpe;Jntsp ehfhpfj;Jf;F Kd;Ndhbahf fUjg;gLk; gFjp vJ? 
a. Nyhj;jy;  b. fhspgq;fd;   c. Njhyhtpuh 
d. nkn`h;fh;  e. tpil njhpatpy;iy 
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7. Choose the correct statements 
I. A granary with walls made of mud bricks, which are still in a good condition, 

has been discovered in Rakhigarhi, a village in Haryana belonging to Mature 
Harappan Phase 

II. The Assembly Hall was the huge public building located at Mohenjo Daro 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;wpidj; Njh;e;njL 
I. nrq;fw;fshy; fl;lg;gl;l Rth;fisf; nfhz;l jhdpaf;fsQ;rpak; xd;W `hpahdh 

khepyj;jpy; cs;s uhfpfh;fpapy; fz;Lgpbf;fg;gl;Ls;sJ. NkYk; ,J 
Kjph;r;rpaile;j `ug;gh fhyj;ijr; rhh;e;jJ. 

II. kpfg;ngUk; nghJf;fl;llkhd $l;l muq;F nkh`Q;rjhNuhtpy; mike;Js;sJ. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

8. Choose the correct statements about Lothal 
I. It is situated on the banks of a tributary of Narmada river in Gujarat 
II. A naval dockyard has been discovered in Lothal 
III. Ivory scale found in Lothal in Gujarat is 1704 mm 
a. I, II    b. I, III    c. II, III   
d. All of these      e. Answer not known 
Nyhj;jy; gw;wpa rhpahd $w;Wfisj; Njh;e;njL 
I. ,J F[uhj;jpy; eh;kij Mw;wpd; xU Jiz Mw;wpd; fiuapy; mike;Js;sJ 
II. jw;fhy F[uhj;jpYs;s Nyhj;jypy; fg;gy; fl;lg;gLk; kw;Wk; nrg;gdpLk; jsk; 

xd;W fz;Lgpbf;fg;gl;Ls;sJ. 
III. F[uhj; khepyj;jpYs;s Nyhj;jypy; fz;Lgpbf;fg;gl;l msTNfhy; 1704 kp.kP tiu 

rpwpa mstPLfisf; nfhz;Ls;sJ. 
a. I, II    b. I, III   c. II, III 
d. ,it midj;Jk;  e. tpil njhpatpy;iy                                                                                                                                                                                                                                                                                                                                                                                                                                                         
 

9. Choose the correct statements about Indus Civlization 
I. The world’s first planned cities are found in this civilization 
II. There was a high sense of awareness on public health 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rpe;Jntsp ehfhpfk; Fwpj;j rhpahd $w;Wfisj; Njh;e;njL 
I. cyfpd; Kjy; jpl;lkplg;gl;l efuq;fs; ,q;F fhzg;gLfpd;wd 
II. Rj;jk; kw;Wk; Rfhjhuk; gw;wpa czh;T NkNyhq;fpapUe;jJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

10. How many pairs are incorrectly matched? 
I. Dancing girl – Bronze 
II. Sculpture of seated male – Mohenjo Daro 
III. Great Bath – Lothal 
IV. KVT Complex – Mesopotamia 
a. 1 pair   b. 2 pairs   c. 3 pairs 
d. 4 pairs   e. Answer not known 
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fPo;f;fz;ltw;Ws; vj;jid ,izfs; jtwhfg; nghUj;jg;gl;Ls;sd? 
I. eld khJ – ntz;fyk; 
II. mkh;e;j epiyapy; Mz;rpiy – nkhfQ;rjhNuh 
III. ngUq;Fsk; - Nyhj;jy; 
IV. KVT tshfk; - nkrglhkpah 
a. 1 ,iz   b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs;  e. tpil njhpatpy;iy 
 

11. Which of the following literature in particular speaks about the greatness of 
Poombuhar? 
a. Puranaanooru  b. Ahanaanooru  c. Pattinappaalai 
d. Silappathikaram  e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j E}y; Fwpg;ghf g+k;Gfhhpd; rpwg;igg; NgRfpd;wJ? 
a. GwehD}W   b. mfehD}W   c. gl;bdg;ghiy 
d. rpyg;gjpfhuk;  e. tpil njhpatpy;iy 
 

12. Choose the correct statements about Poompuhar 
I. The traders of Poompuhar were known for their honesty and integrity 
II. Silappathikaram states that “Selling any commodity at a higher price was 

considered bad” 
a. I only   b. II only   c. Both I and II 
d. None of these   e. Answer not known 
g+k;Gfhh; gw;wpa rhpahd $w;wpidj; Njh;e;njL 
I. G+k;Gfhh; efuj;J tzpfh;fs; Neh;ikf;Fk; ehzaj;jpw;Fk; ngah; ngw;wth;fshf 

tpsq;fpdhh;fs; 
II. $Ljyhd tpiyf;F nghUis tpw;gJ jtwhd nray; vd;W mth;fs; fUjpdh; 

vd;gij rpyg;gjpfhuk; $WfpwJ. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II  
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

13. How many pairs are correctly matched? 
I. Gold  - Vadamalai 
II. Sandal - Westernghats 
III. Corals  - Eastern sea 
IV. Pearls  - southern sea 
a. 1 pair  b. 2 pairs   c. 3 pairs 
d. 4 pairs  e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; jtwhfg; nghUj;jg;gl;Ls;sd? 
I. jq;fk;  - tlkiy 
II. re;jdk; - Nkw;Fj; njhlh;r;rp kiy 
III. gtsk;  - fpof;Ff;fly; 
IV. Kj;Jf;fs; - njd; fly; 
a. 1 ,iz  b. 2 ,izfs;  c. 3 ,izfs; 
d. 4 ,izfs; e. tpil njhpatpy;iy 
 

14. How many poets were associated with the last Tamil Sangam? 
a. 22  b. 44  c. 49  d. 52  e. Answer not known 
filj;jkpo; rq;f fhyj;jpy; jkpo;g;gzp nra;j Gyth;fs; vj;jid Ngh;? 
a. 22  b. 44  c. 49  d. 52  e. tpil njhpatpy;iy 
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15. Which of the following statements are correct? 
I. King Solomon of ancient Israel imported pearls from Uvari near the Pandyan 

Port, Korkai 
II. A mint of Roman coins was present at Coimbatore 
a. I only  b. II only   c. Both I and II 
d. None of these e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahd $w;Wfs; vit? 
I. gz;ila ,];Nuy; murh; rhykd; Kj;Jf;fis cthp vd;Dkplj;jpypUe;J 

,wf;Fkjp nra;jhh;. ,J ghz;bah; JiwKfkhd nfhw;iff;F mUfpYs;sJ. 
II. Nuhkhdpa ehzaq;fs; jahhpf;Fk; njhopw;rhiy Nfhak;Gj;J}hpy; ,Ue;Js;sJ. 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

16. Choose the correctly matched pairs 
I. Kalidasa – Kanchi is the best of the towns 
II. Thirunavukkarasar – In Kanchi, education has no bounderies 
III. Hieun Tsang – Kanchi can be counted as among the seven sacred places like 

Budh Gaya and Sanchi 
a. I, II   b. I, III    c. II, III   
d. All the above e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. fhspjhrh; - efuq;fspy; rpwe;jJ fhQ;rp 
II. jpUehTf;furh; - fy;tpapy; fiuapyhj fhQ;rp 
III. Athd; Rthq; - Gj;jfah> rhQ;rp Nghd;w xU ,e;jpag; Gdpjj; jyq;fSs; 

fhQ;rpAk; xd;W 
a. I, II    b. I, III    c. II, III 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

17. Choose the correct statements about Kanchi 
I. Kailasanathar temple was built by later Pallava King Rajasimha at Kanchi 
II. The Buddhist monk Manimegalai spent the last part of her life at Kanchi, speaks 

highly of that town 
a. I only  b. II only   c. Both I and II 
d. None of these e. Answer not known 
fhQ;rp gw;wpa rhpahd $w;wpidj; Njh;e;njL 
I. fhQ;rpapYs;s ifyhrehjh; Nfhtpy; gpw;fhy gy;yt kd;ddhd uh[rpk;kdhy; 

fl;lg;gl;lJ. 
II. ngsj;jj; Jwtpahd kzpNkfiy jdJ ,Wjpf;fhyj;ij fhQ;rpapy; fopj;jth; 

vd;gJ ,jd; rpwg;Gf;F ,d;ndhU rhd;W 
a. I kl;Lk;  b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

18. Choose the correct statements 
I. Vedic Age is a period in the history of India between 1900 BC – 1100 BC 
II. Vedic period belongs to the Iron Age 
III. Shrutis are considered sacred, eternal and an unquestionable truth 
IV. Smriti means definite and written literature 
a. I, II, III  b. I, III, IV   c. II, III, IV   
d. I, II, III, IV  e. Answer not known 
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rhpahd $w;Wfis fz;lwpf 
I. Ntjfhyk; ,e;jpa tuyhw;wpy; fp.K.1900 – fp.K.1100 fhyfl;lk; 
II. Ntjfhyk; ,Uk;Gf; fhyj;ijr; rhh;e;jJ. 
III. RUjpfs; vd;git Gdpjkhdit> epiyahdit> Nfs;tpfs; Nfl;fg;gl Kbahj 

cz;ik vdf; fUjg;gl;lit 
IV. ];kpUjp vd;gjd; nghUs; ,Wjpahd vOjg;gl;l gpujp vd;gjhFk; 
a. I, II, III  b. I, III, IV   c. II, III, IV   
d. I, II, III, IV  e. Answer not known 
 

19. Choose the incorrect vedic texts regarding Smriti 
1. Ramayana   2. Mahabharatha  3. Aranyakas 
4. Upanishads  5. Dharmasutra  6. Puranas 
7. Naradasmriti 
a. 1, 2   b. 3, 4  c. 5, 6  d. 6, 7  e. Answer not known 
];kpUjpfspy; nghUe;jhj Ntj E}y;fisj; Njh;T nra;f 
1. ,uhkhazk;  2. kfhghujk;   3. Muz;aq;fs; 
4. cgepljq;fs;  5. jh;k#j;jpuk;  6. Guhzq;fs; 
7. ehuj ];kpUjp   
a. 1, 2   b. 3, 4  c. 5, 6  d. 6, 7  e. tpil njhpatpy;iy 
 

20. Choose the correct ascending order of the Rig Vedic Society? 
a. Gramani < Kulapti < Jana < Vishayapati < Rashtra  
b. Kulapati < Gramani < Vishayapati < Jana < Rashtra 
c. Kulapti < Gramani < Jana < Rashtra < vishyapati 
d. Gramani < Jana < Kulapati < Vishayapati < Rashtra 
e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j VWthpir hpf;Ntj r%fj;ijg; nghWj;jkl;by; rhpahdJ? 
a. fpuhkzp < Fygjp < [dh < tpragjp < uh~;buk; 
b. Fygjp < fpuhkzp < tpragjp < [dh < uh~;buk; 

c. Fygjp < fpuhkzp < [dh < uh~;buk; < tpragjp 
d. fpuhkzp < [dh < Fygjp < tpragjp < uh~;buk; 
e. tpil njhpatpy;iy 

 
21. Choose the correctly matched pairs 

I. Sabha – assembly of people 
II. Samiti – a council of elders 
III. Dasyus and Dasas – dark complexioned non Aryans 
IV. Brahmanas – priestly class 
a. I, II    b. III, IV   c. I, II, IV   
d. All of these  e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. rgh – kf;fs; midtiuAk; nfhz;l nghJf;FO 
II. rkpjp - %j;Njhh;fisf; nfhz;l kd;wk; 
III. jrAf;fs; kw;Wk; jhrh;fs; - fUg;G epwj;Njhy; nfhz;l Mhpauy;yhjth;fs; 
IV. gpuhkzh;fs; - kjFUkhh;fs; 
a. I, II    b. III, IV    c. I, II, IV 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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22. Choose the correct statements 
I. Ochre coloured pottery (OCP) was attributed to vedic period 
II. The staple crop of vedic period was wheat 
III. Pottery of the later vedic period was printed Grey Ware Culture 
a. I, II   b. I, III   c. II, III   
d. I, II, III  e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
I. gOg;G kQ;rs; epw kl;ghz;lq;fs; Ntjfhyj;ijr; Nrh;e;jjhFk;. 
II. NfhJik Ntjfhyj;jpy; Kjd;ik gapuhf ,Ue;jJ. 
III. gpd;Ntjfhyg; gz;ghL th;zk; jPl;lg;gl;l rhk;gy; epw kl;ghz;lg; gz;ghL vd;W 

miof;fg;gLfpwJ. 
a. I, II   b. I, III    c. II, III   
d. I, II, III  e. tpil njhpatpy;iy 
 

23. Choose the incorrectly matched pairs 
I. Nishka, Satmana  - Silver coins 
II. Krishnala   - Gold coins 
III. Hiranya   - Gold 
IV. Shyama   - Iron 
V. Ayas    - Copper / Bronze 
a. I, II  b. I, III  c. III, IV  d. IV, V e. Answer not known 
jtwhfg; nghUe;jpa ,izfisj; Njh;T nra;f 
I. ep~;fh> rj;kdh  - nts;sp ehzaq;fs; 
II. fpU~;zhyh   - jq;f ehzaq;fs; 
III. `puz;ah   - jq;fk; 
IV. rpahkh    - ,Uk;G 
V. mah];   - jhkpuk; / nrk;G 
a. I, II  b. I, III  c. III, IV  d. IV, V e. tpil njhpatpy;iy 
 

24. Choose the correct statements 
1. The vedic culture in north India and the Iron age in South India belong to the same 

period. 
2. Megalithic period in ancient Tamilagam synchronized with the pre sangam period 
3. The Black and Red ware pottery became the characteristic of the Megalithic period 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known 
rhpahd $w;Wfisj; Njh;T nra;f 
1. tl ,e;jpahtpd; Ntjfhyg; gz;ghLk;> njd;dpe;jpahtpd; ,Uk;Gf; fhyKk; 

rkfhyj;ijr; Nrh;e;jit MFk;. 
2. gz;ila jkpofj;jpd; ngUq;fw;fhyk;> rq;ffhyj;jpw;F Ke;jpa fhyj;NjhL 

xj;Jg;NghfpwJ 
3. fUg;G kw;Wk; rpfg;G epw kl;ghz;lq;fs; ngUq;fhyj;jpw;F xU $whf cs;sJ 
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 
 

25. The steel imported to Rome from peninsular India was subjected to duty in the port of 
Alexandria which was mentioned in 
a. Vienna Papyrus  b. Periplus   c. Pliny’s Natural History 
d. Ptolemy’s Geography e. Answer not known 
jPgfw;g ,e;jpahtpypUe;J Nuhk; ehl;bw;F v/F Vw;Wkjp nra;ag;gl;lJ Fwpj;Jk; 
mnyf;]hz;bhpah JiwKfj;jpy; ,tw;wpd; kPJ thp tpjpf;fg;gl;Ls;sJ vd;gJ Fwpj;Jk; 
Fwpg;gpLtJ __________ 

 a. tpad;dh ghg;gpu]; b. nghpg;gps];  c. gpspdpapd; ,aw;if tuyhW 
d. jhykpapd; g+Nfhs E}y;  e. tpil njhpatpy;iy 
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26. Choose the correct statements 
I. The evidence for iron smelting has come to light at Kodumanal 
II. Kodumanal is identified with the Kodumanam of Pathitrupathu  
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
I. nfhLkzypy; ,Uk;G cUf;fg;gl;ljw;fhd rhd;Wfs; fpilj;Js;sd. 
II. gjpw;Wg;gj;jpy; ,lk;ngw;Ws;s nfhLkzk; vd;Dk; CNu nfhLkzy; vd 

milahsg;gLj;jg;gLfpwJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

27. Choose the correctly matched pairs 
I. Adichanallur   - Tirunelveli 
II. Keezhadi   - Sivagangai 
III. Porunthal   - Dindigul 
IV. Paiyampalli   - Vellore 
V. Kodumanal   - Erode 
a. I, II, III  b. II, III, IV, V  c. I, II, V 
d. All of these e. Answer not known 
rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. Mjpr;rey;Y}h;   - jpUney;Ntyp 
II. fPob    - rptfq;if 
III. nghUe;jy;   - jpz;Lf;fy; 
IV. igak;gs;sp   - NtY}h; 
V. nfhLkzy;   - <NuhL 
a. I, II, III  b. II, III, IV, V  c. I, II, V 
d. All of these e. tpil njhpatpy;iy 
  

28. Choose the correct statements regarding sects of Jainism 
I. Svetambaras believe that woman cannot achieve nirvana or liberation directly 
II. Digambaras believe that women are equally capable of achieving liberation as 

men 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rkzg;gphpTfs; njhlh;ghd $w;Wfspy; rhpahdtw;iwj; Njh;e;njL 
I. ngz;fs; Neubahf tpLjiy ngwNth eph;thz epiyia milaNth KbahJ 

vd ];Ntjk;guh;fs; ek;gpdh;. 
II. Mz;fisg; NghyNt ngz;fSk; tpLjiy ngw rkkhd jFjpfisf; 

nfhz;Ls;sdh; vd jpfk;guh;fs; ek;Gfpd;wdh;. 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

29. Choose the correct statements 
I. There is a reference to Aravor Palli Place of living for Jain monks in Kundalakesi 
II. According to Silappathikaram, when Kovalan and Kannagi were on their way 

to Madurai, Gownthiyadigal a Jain monk blessed the couple and accompanied 
them. 

a. I only   b. II Only   c. Both I and II 
d. None of these  e. Answer not known 
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rhpahd $w;Wfisj; Njh;T nra;f 
I. mwNthh; gs;sp vd;gJ rkzj; Jwtpfs; tho;e;j ,lq;fs; vd Fz;lyNfrpapy; 

Fwpg;G cs;sJ. 
II. NfhtyDk; fz;zfpAk; kJiuf;Fr; nry;Yk; topapy; rkz Jwtpahd 

fTe;jpabfs; mth;fis MrPh;tjpj;J mth;fSld; nrd;wjhf jkpo; fhg;gpakhd 
rpyg;gjpfhuk; Fwpg;gpLfpwJ. 

a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it vJTkpy;iy e. tpil njhpatpy;iy 
 

30. Choose the correct statements regarding teachings of Buddha 
I. Buddha neither accepted nor denied the existence of God, but believed the laws 

of universe 
II. Buddha asserted that attaining nirvana is the ultimate aim of life 
III. Buddha had rejected the caste system 
a. I, II   b. I, III    c. II, III   
d. I, II, III  e. Answer not known 
Gj;jhpd; Nghjidfs; Fwpj;j rhpahd $w;Wfisj; Njh;e;njL 
I. Gj;jh; flTspd; ,Ug;ig Vw;wf;nfhs;sTk; ,y;iy. kWf;fTk; ,y;iy. Mdhy; 

gpugQ;r tpjpfis ek;gpdhh; 
II. eph;thd epiy miltNj tho;f;ifapd; ,Wjp Nehf;fk; vd;W Gj;jh; 

typAWj;jpdhh;. 
III. rhjpgbepiyfis Gj;jh; epuhfhpj;jhh; 
a. I, II   b. I, III    c. II, III 
d. I, II, III  e. tpil njhpatpy;iy 
 

31. Match the following 
Buddhist councils   Place 
A. First    1. Rajagriha 
B. Second    2. Vaishali 
C. Third    3. Pataliputra 
D. Four    4. Kashmir 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
fPo;f;fz;ltw;iw nghUj;Jf 
ngsj;j khehLfs;   ,lk; 
A. KjyhtJ    1. ,uh[fpUfk; 
B. ,uz;lhtJ   2. itrhyp 
C. %d;whtJ    3. ghlypGj;jpuk; 
D. ehd;fhtJ    4. fh~;kPh; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
 

  



 

10 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

32. Which of the following statements are correct about Megasthenese? 
I. He was the ambassador of Greek ruler Seleucus Nicator in the court of Chandra 

Gupta 
II. He stayed in India for 12 years 
III. His book Indica is one of the main sources for the study of Mauryan Empire 
a. I, II   b. I, III    c. II, III   
d. I, II, III  e. Answer not known 
fPo;f;fz;ltw;Ws; nkf];jdp]; Fwpj;j rhpahd $w;Wfs; vit? 
I. fpNuf;f Ml;rpahsh; nrYf;f]; epNfl;lhpd; j}Jtuhf> re;jpuFg;j nkshpa 

muritapy; ,Ue;jth; 
II. 12 Mz;Lfs; ,e;jpahtpy; ,Ue;jhh;. 
III. ,th; vOjpa E}yhd ,z;bfh nkshpag; Nguuirg; gw;wp ehk; njhpe;J nfhs;s 

Kf;fpar; rhd;whf cs;sJ 
a. I, II   b. I, III   c. II, III   
d. I, II, III  e. tpil njhpatpy;iy 
  

33. Choose the correct statements about Chandragupta Maurya 
1. He established the Mauryan Empire in Magadha 
2. Sthulabadhra, a jain monk, took him to Southern India  
3. He performed Sellekhana in Sravanabelagola  
a. 1, 2  b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known  
re;jpuFg;jnkshpah; Fwpj;j rhpahd $w;Wfisj; Njh;e;njL 
1. ,th; nkshpag; Nguuir kfjj;jpy; epWtpdhh; 
2. ];J}ygj;uh vDk; rkzj;Jwtp re;jpuFg;jiu njd;dpe;jpahtpw;F mioj;Jr; nrd;whh; 
3. ,th; rutzngynfhyhtpy; ry;Nyfdh nra;jhh; 
a. 1> 2  b. 1> 3 c. 2> 3  d. 1> 2> 3 e. tpil njhpatpy;iy 
 

34. Identify the personality 
I. His real name was Simhasena 
II. He was the son of Chandra Gupta Maurya 
III. Greeks called him as Amitragadha meaning ‘Slayer of enemies’ 
Who is he? 
a. Bimbisara   b. Ashoka   c. Bindusara 
d. Brihatradha  e. Answer not known 
MSikia milahsk; fhzTk; 
I. ,thpd; ,aw;ngah; rpk;`Nrdh 
II. ,th; re;jpuFg;j nkshpahpd; kfd; Mthh; 
III. fpNuf;fh;fs; ,tiu mkph;jfjh vd;W mioj;jdh;. mjd; nghUs; ‘vjphpfis 

mopg;gtd;’ vd;gjhFk;. 
ahh; ,th;? 
a. gpk;gprhuh;   b. mNrhfh;   c. gpe;Jrhuh; 
d. gphpfj;ujh   e. tpil njhpatpy;iy 
 

35. Who was known as ‘Devanam Priya’? 
a. Ashoka  b. Bindusara   c. Chandragupta Maurya 
d. Bimbisara  e. Answer not known 
Njtdhk;gphpah; vd;W miof;fg;gLgth; ahh;? 
a. mNrhfh;  b. gpe;Jrhuh;   c. re;jpuFg;j nkshpah; 
d. gpk;gprhuh;  e. tpil njhpatpy;iy 
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36. The Horror of the Kalinga War was described in Ashoka’s __________ 
a. Rock Edict III  b. Rock Edict VIII  c. Rock Edict XIII 
d. Rock Edict XII  e. Answer not known 
fypq;fg;Nghhpd; gaq;fuj;ij mNrhfh; jd;Dila ________ tpthpj;Js;shh; 
a. IIItJ ghiwf;fy;ntl;by;  b. VIIItJ ghiwf;fy;ntl;by; 
c. XIIItJ ghiwf;fy;ntl;by;  d. XIItJ ghiwf;fy;ntl;by; 
e. tpil njhpatpy;iy 
 

37. Choose the correct statements about Ashoka 
I. Ashoka fought the Kalinga war in 261 CE 
II. He sent his son Mahinda and Sanghamitra to Srilanka to propagate Buddhism 
III. Ashoka held the third Buddhist Council at his capital Pataliputra 
a. I, II   b. I, III    c. II, III 
d. I, II, III  e. Answer not known 
mNrhfh; gw;wpa $w;Wfspy; rhpahdtw;iwj; Njh;e;njL 
I. mNrhfh; fp.gp.261 fypq;fj;jpd; kPJ Nghh; njhLj;jhh;. 
II. mth; jd;Dila kfd; kfpe;jhitAk; kfs; rq;fkpj;uhitAk; ngsj;jj;ijg; 

gug;Gtjw;fhf ,yq;iff;F mDg;gp itj;jhh;. 
III. mNrhfh; jdJ jiyefuhd ghlypGuj;jpy; %d;whk; ngsj;jkj khehl;ilf; 

$l;bdhh; 
a. I, II   b. I, III    c. II, III 
d. I, II, III  e. tpil njhpatpy;iy 
 

38. Choose the incorrect statements 
I. After the battle of Kalinga, Ashoka became a Buddhist 
II. The meaning of Dhamma is explained in Ashoka’s – Pillar Edict XIII 
a. I only  b. II only   c. Both I and II 
d. None of these e. Answer not known 
jtwhd $w;Wfisj; Njh;e;njL 
I. fypq;fg; NghUf;Fg; gpd;dh; mNrhfh; xU ngsj;jh; Mdhh; 
II. mNrhfhpd; XIIIMk; J}z; fy;ntl;by; jh;kj;jpd; nghUs; Fwpj;J 

tpsf;fg;gl;Ls;sJ 
a. I kl;Lk;  b. II kl;Lk;    c. I kw;Wk; II 
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

39. Who is praised as the Lord of Korkai? 
a. Nediyon   b. Nanmaran   c. Mudukudumi Peruvazhuthi 
d. Nedunchezhiyan  e. Answer not known 
nfhw;ifapd; jiytd; vd Nghw;wg;gLgth; ahh;? 
a. nebNahd;   b. ed;khwd;   c. KJFLkpg;ngUtOjp 
d. neLQ;nropad;  e. tpil njhpatpy;iy 
 

40. Choose the correctly matched pairs regarding Sangam Polity 
I. Arasukattileruthal  – The coronation ceremony 
II. Irai    - Income Tax 
III. Avai   - The court of justice located in capital town 
IV. Thanaithalaivan - The Chief of the army 
a. I, II, III  b. I, III, IV   c. II, III, IV 
d. I, II, III, IV  e. Answer not known  
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rq;ffhy Ml;rpaikg;G Fwpj;J rhpahfg; nghUe;jpa ,izfisj; Njh;e;njL 
I. muRf;fl;bNyWjy;  - gl;lk; #l;lg;gLk; tpoh 
II. ,iw   - tUkhd thp 
III. mit   - jiyefhpy; cs;s ePjpkd;wk; 
IV. jhidj;jiytd; - ,uhZtj; jiyth; 
a. I, II, III  b. I, III, IV   c. II, III, IV 
d. I, II, III, IV  e. tpil njhpatpy;iy 
 

41. The literary source for Kalabhras period includes  
a. Tamil Navalar Charithai  b. Yapperunkalam  c. Periyapuranam  
d. All the above   e. Answer not known 
fsg;gpuh; fhyj;ij rhh;e;j ,yf;fpar; rhd;W 
a. jkpo; ehtyh; rhpjk;  b. ahg;ngUq;fyk;  c. nghpaGuhzk; 
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

42. Which of the following is considered as the first emporium of India by the Roman 
writer Pliny? 
a. Korkai  b. Muziris   c. Uraiyur 
d. Karur  e. Answer not known 
fPo;f;fz;ltw;Ws; vJ ve;jg;gFjp Nuhk; ehl;ilr; Nrh;e;j tuyhw;whsh; gpspdpahy; 
‘,e;jpahtpd; Kjy; Nguq;fhb’ vd;W miof;fg;gl;lJ? 
a. nfhw;if  b. Krpwp   c. ciwa+h; 
d. f&h;  e. tpil njhpatpy;iy 
 

43. Match the following 
Eco region   God 
A. Kurinji   1. Maayon 
B. Mullai   2. Murugan 
C. Marutham   3. Varunan 
D. Neithal   4. Indiran 
E. Paalai   5. Kotravai 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 3 4 5 
c. 2 1 4 3 5 
d. 1 2 4 3 5 
nghUj;Jf 
jpiz    flTs; 
A. FwpQ;rp   1. khNahd; 
B. Ky;iy   2. KUfd; 
C. kUjk;   3. tUzd; 
D. nea;jy;   4. ,e;jpud; 
E. ghiy   5. nfhw;wit 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 3 4 5 
c. 2 1 4 3 5 
d. 1 2 4 3 5 
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44. The descending order of the administrative division in the ancient Tamizhagam was 
a. Mandalam > Nadu > Kurram > Ur 
b. Mandalam > Kurram > Nadu > Ur 
c. Nadu > Mandalam > Kurram > Ur 
d. Nadu > Mandalam > Ur > Kurram 
e. Answer not known 
gz;ilf;fhyj; jkpofj;jpd; eph;thfg; gphpTfis ,wq;Fthpirapy; ,t;thW 
mike;jpUe;jJ 
a. kz;lyk; > ehL > $w;wk; > Ch; 
b. kz;lyk; > $w;wk; > ehL > Ch; 
c. ehL > kz;lyk; > $w;wk; > Ch; 
d. ehL > kz;lyk; > Ch; > $w;wk; 
e. tpil njhpatpy;iy 
 

45. Choose the correct statements 
I. Pushyamitra Sunga was succeeded by his son Agnimitra 
II. Agnimitra is said to be the hero of Kalidasa’s Malavikagnimitra 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
I. G~;akpj;u Rq;fUf;Fg; gpd;dh; mtUila kfd; mf;dpkpj;uh mur gjtp Vw;whh; 
II. mf;dpkpj;jpuh; fhspjhrh; ,aw;wpa khstpfhf;dpkpj;uh ehlfj;jpd; fjhehafdhff; 

fUjg;gLfpwhh; 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. VJkpy;iy   e. VJkpy;iy 
 

46. The Buddhist saint and scholar associated with the court of Kanishka was 
a. Asvagosha   b. Vasumitra   c. Nagarjuna 
d. All the above  e. Answer not known 
fdp~;fhpd; mitapy; ,Ue;j Gj;j Jwtp kw;Wk; Gyth;  
a. m];tNfh~h  b. tRkpj;uh   c. ehfhh;[{dh 
d. Nkw;fz;l midtUk; e. tpil njhpatpy;iy 
 

47. Choose the correct statements about Kanishka 
1. He was an ardent Buddhist 
2. He adopted Buddhism under the influence of Asvagosha a celebrated monk from 

Pataliputra 
3. He organised the second buddhist council 
a. 1, 2   b. 1, 3  c. 2, 3  d. 1, 2, 3 e. answer not known 
fdp~;fh; gw;wpa rhpahd $w;wfisj; Njh;e;njL 
1. ,th; xU jPtpu ngsj;juhthh; 
2. ,th; ghlypGuj;ijr; Nrh;e;j ngsj;jj; Jwtpahd m];tNfh~h; vd;gthpd; 

Nghjidfshy; ngsj;jj;ijj; jOtpdhh; 
3. ,uz;lhtJ ngsj;j khehl;bidf; $l;bdhh; 
a. 1> 2   b. 1> 3 c. 2> 3  d. 1> 2> 3 e. tpil njhpatpy;iy 
 

48. Which of the following inscriptions belongs to the period of Chandragupta II? 
I. Allahabad Pillar inscription 
II. Udayagiri Cave inscription 
III. Sanchi stone inscription 
IV. Mathura stone inscription 
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a. I, II   b. III, IV   c. II, III, IV   
d. I, II, III, IV  e. Answer not known 
fPo;f;fz;l fy;ntl;Lf;fspy; ,uz;lhk; re;jpuFg;jh; fhyj;ijr; rhh;e;jit vit? 
I. myfhghj; J}z; fy;ntl;L 
II. cjafphp Fiff; fy;ntl;L 
III. rhQ;rp ghiwf; fy;ntl;L 
IV. kJuh ghiwf; fy;ntl;L 
a. I, II   b. III, IV   c. II, III, IV   
d. I, II, III, IV  e. Answer not known 
 

49. Match the following 
A. Harisena  1. Sanskrit poet 
B. Amarasimha 2. Physician 
C. Dhanvantri 3. Lexicographer 
D. Kahapanaka 4. Astrologer 
 A B C D 
a. 1 3 2 4 
b. 1 4 2 3 
c. 4 1 2 3 
d. 4 3 2 1 
nghUj;Jf 
A. `hpNrdh;  1. rk];fpUjg;Gyth; 
B. mkurpk;`h; 2. kUj;Jth; 
C. jd;te;jphp  3. mfuhjpapay; Mrphpah; 
D. fhfghdfh; 4. Nrhjplh; 
 A B C D 
a. 1 3 2 4 
b. 1 4 2 3 
c. 4 1 2 3 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
  

50. Arrange the following rulers in chronological order 
I. Sri Gupta    II. Kumaragupta 
III. Chandragupta I   IV. Vikramaditya 
a. I, II, III, IV  b. II, I, III, IV    c. I, III, II, IV 
d. I, II, IV, III  e. Answer not known 
gpd;tUk; murh;fs; fhythpirg;gb vOJf 
I. =Fg;jh;    II. FkhuFg;jh; 
III. Kjyhk; re;jpuFg;jh;  IV. tpf;ukhjpj;ah; 
a. I, II, III, IV  b. II, I, III, IV    c. I, III, II, IV 
d. I, II, IV, III  e. tpil njhpatpy;iy 
 

51. Consider the following 
Assertion (A): Samudra Gupta earned the title Kaviraja 
Reason (R): Samudragupta was not only a great conqueror but a lover of poetry and 
music 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
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c. A true and R false 
d. A false and R true 
e. Answer not known 
gpd;tUtdtw;iw Muha;f 
$w;W (A): rKj;jpuFg;jh; ftpuh[h vd;Dk; gl;lk; ngw;whh; 
fhuzk; (R): rKj;jpuFg;jh; kpfr;rpwe;j gilnaLg;ghsh; kl;Lky;y; ftpijg; gphpaUk; 
,irg;gphpaUkhthh; 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp kw;Wk; R jtW 
d. A jtW kw;Wk; R rhp 
e. tpil njhpatpy;iy 
 

52. Fahien, a Buddhist scholar from China, visited India during the reign of  
a. Chandragupta I   b. Samudragupta   c. Skandagupta 
d. Vikramaditya   e. Answer not known 
rPdngsj;j mwpQuhd ghfpahd; ,e;jpahtpw;F tUifGhpe;jNghJ ,Ue;j Ml;rpahsh; 
__________ 
a. Kjyhk; re;jpuFg;j nkshpah; b. rKj;jpuFg;jh;  c. ];fe;jFg;jh; 
d. tpf;ukhjpj;ah;   e. tpil njhpatpy;iy 
 

53. Who was known as Vikramaditya? 
a. Chandragupta I  b. Chandragupta II  c. Samudragupta 
d. Skandagupta  e. Answer not known 
tpf;ukhjpj;ah; vd;W miof;fg;gLgth; ahh;? 
a. Kjyhk; re;jpuFg;jh; b. ,uz;lhk; re;jpuFg;jh; c. rKj;jpuFg;jh; 
d. ];fe;jFg;jh;  e. tpil njhpatpy;iy 
 

54. Choose the correct statements 
I. Chandragupta I married Kumaradevi of the famous and powerful ‘Lichchhavi’ 

royal family 
II. The prayog prashasti, composed by Samudragupta’s court poet Karisena was 

engraved on Allahabad Pillar 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
rhpahd $w;Wfisj; Njh;e;njL 
I. Kjyhk; re;jpuFg;jh;> Gfo;ngw;w typik kpFe;j ‘ypr;rhtp’ mur FLk;gj;ijr; 

Nrh;e;j FkhuNjtpia kze;jhh;. 
II. rKj;jpuFg;jhpd; mitf;fsg;Gytuhd `hpNrdh; ,aw;wpa gpuahif nka;f;fPh;j;jp 

myfhghj; J}zpy; nghwpf;fg;gl;Ls;sJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

55. Match the following 
A. Kshetra   1. Cultivable land 
B. Khila   2. Waste Land 
C. Aprahata   3. Forest Land  
D. Vasti   4. Habitable land 
E. Gapata sahara  5. Pastoral land 
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 A B C D E 
a. 1 2 3 4 5 
b. 2 1 5 4 3 
c. 3 2 1 5 4 
d. 4 5 1 3 2 
e. Answer not known  
nghUj;Jf 
A. N~j;uh   1. Ntshz;ikf;F cfe;j epyq;fs; 
B. fpyh   2. jhpR epyq;fs; 
C. mg;ufjh   3. fhl;L epyq;fs; 
D. t];jp   4. FbapUg;gjw;F cfe;j epyq;fs; 
E. fgj rufh   5. Nka;r;ry; epyq;fs; 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 5 4 3 
c. 3 2 1 5 4 
d. 4 5 1 3 2 
e. tpil njhpatpy;iy 
 

56. The Nalanda University was founded by 
a. Chandragupta I  b. Vikramaditya   c. Kumaragupta 
d. Samudragupta  e. Answer not known 
ehse;jh gy;fiyf;fofj;ij epWtpath; 
a. Kjyhk; re;jpuFg;jh; b. tpf;ukhjpj;ah;  c. FkhuFg;jh; 
d. rKj;jpuFg;jh;  e. tpil njhpatpy;iy 
 

57. Match the following 
A. Kumara Kampana  1. Sambuvaraya Chief 
B. Tondai–mandalam  2. Orissa 
C. Gajapathi Kingdom  3. Saiva Saint 
D. Vidyaranya   4. Madurai 

A B C D 
a. 2 1 4 3 
b. 4 1 3 2 
c. 4 1 2 3 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
A. Fkhu fk;gz;zh   1. rk;Gtuha jiytu; 
B. njhz;il kz;lyk;  2. Xhprh 
C. f[gjp murh;   3. irt Kdpth; 
D. tpj;auhz;ah   4. kJiu 

A B C D 
a. 2 1 4 3 
b. 4 1 3 2 
c. 4 1 2 3 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
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58. Consider the following statements, Choose the correct answer from the codes given 
below. 
Assertion (A) : Indus valley civilization is also known as Harappan Civilization  
Reason (R) : Harappa was the first site to be identified in the Indus Civilization  
a. A alone is correct R is incorrect  
b. A and R are correct and R is the correct explanation of A  
c. A and R are incorrect  
d. A and R are correct but R is not the correct explanation of A 
e. Answer not known 
nfhLf;fg;gl;l fUj;J njhliu ftzj;jpy; itj;J rhpah gjpiy Nfhh;L thh;j;ijAk; 
Njh;T nra;aTk;. 
fUj;J (A): rpe;J rkntsp ehfhPfk; `ug;gh ehfhpfk; vd;Wk; miof;fyhk;. 
fhuzk; (R): rpe;J rkntspapy; Kjypy; fz;Lgpbj;j ,lk; jhd; `ug;gh MFk;. 
a. (A) rhp Mdhy; (R) jtW 
b. (A) kw;Wk; (R) ,uz;LNk rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fk; 
c. (A) jtW Mdhy; (R) rhp 
d. (A) kw;Wk; (R) ,uz;LNk rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd  tpsf;fky;y 
e. tpil njhpatpy;iy 

 
59. Choose the correct statement regarding Ajivikas 

I. Manimekalai, Nilakesi and Sivagnana Siddhiyar have reference to Ajivika 
doctrine. 

II. Puranan was the tax levied on the Ajivikas 
a. I only  b. II only   c. Both I and II   
d. None  e. Answer not known 
m[ptpfhf;fs; njhlu;ghd $w;Wfspy; rupahdij Nju;e;njLf;f 
I. kzpNkfiy> ePyNfrp kw;Wk; rptQhd rpe;jpahu; Mfpatw;wpy; m[ptpfh Nfhl;ghL 

cs;sJ. 
II. Guhzd; vd;gJ m[ptpfhf;fs; kPJ tpjpf;fg;gl;l tup. 
a. I kl;Lk;  b. II kl;Lk;   c. I & II ,uz;Lk;   
d. vJTkpy;iy e. tpil njhpatpy;iy 

 
60. In which year did Chandragupta established the Mauryan Empire and became it's first 

emperor? 
a. 312 BCE  b. 321 BCE   c. 351 BCE    
d. 361 BCE   e. Answer not known 
re;jpuFg;jh; nkshpa Nguuir epWtp ______ ,y; mjd; Kjy; Nguuruhdhh;? 
a. fp.K. 812  b. fp.K. 321   c. fp.K. 351   
d. fp.K. 316  e. tpil njhpatpy;iy 

 
61. Who among the following was refered as Satiyaputra? 

a. Karikalan    b. Ilanjet chenni   c. Athiyaman   
d. Chenguttuvan   e. Answer not known 
gpd;tUtdtw;wpy; ahh; rj;aGj;jpuh; vd;W Fwpg;gplg;gLfpwhu;? 
a. fhpfhyd;   b. ,yd;[pj; nrd;dp  c. mjpakhd;    
d. nrq;Fl;Ltd;  e. tpil njhpatpy;iy 
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62. Match the following:  
A. Parantaka I   1. 985 – 1014 CE  
B. Rajaraja I     2. 1014 – 1044 CE 
C. Rajendra I    3. 907 – 955 CE  
D. Vijayalaya    4. 848 – 891 CE 
 A B C D 
a. 2 3 1 4 
b. 3 1 2 4 
c. 3 2 1 4 
d. 1 2 3 4 
e. Answer not known  
nghUj;Jf:  
A. Kjyhk; guhe;jfd;   1. 985 – 1014 CE  
B. Kjyhk; uh[uh[d;   2. 1014 – 1044 CE 
C. Kjyhk; ,uhN[e;jpud;   3. 907 – 955 CE  
D. tp[ahyad;   4. 848 – 891 CE 
 A B C D 
a. 2 3 1 4  
b. 3 1 2 4 
c. 3 2 1 4 
d. 1 2 3 4 
e. tpil njhpatpy;iy  

 

63. In 1264 which Pandya ruler sacked the Chola’s capital of Gangaikonda Cholhapuram? 
a. Maravarman Kulasekara Pandyan I  b. Jatavarman Sundara Pandyan I 
c. Arikesari Maravarman     d. Kun Pandiayan  
e. Answer not known 
1264,y; Nrhoh; jiyefuhd fq;ifnfhz;l NrhoGuj;ijf; ifg;gw;wpa ghz;ba kd;dd; 
_______  
a. Kjyhk; khwth;kd; FyNrfug; ghz;bad;  
b. Kjyhk; [lhth;kd; FyNrfug; ghz;bad;  
c. mhpNfrhp khwth;kd;  
d. $d; ghz;bad;  
e. tpil njhpatpy;iy 

 

64. Choose the correct statements 
1. Qutbuddin aibak started the construction of Qutubminar 
2. The construction Qutubminar is finished by Iltumish 
a. 1 only   b. 2 only   c. Both 1 and 2  
d. None of these  e. Answer not known 
rhpahd njhliuj; Njh;e;njL 
1. FJg;kpdhiu fl;lj;njhlq;fpath; Fj;Gjpd; Igf; 
2. FJg;kpdhiu fl;b Kbj;jth; ,y;Jkp~; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

65. Match the following 
A. Death of Akbar   1. 1530 
B. Death of Shershah  2. 1605 
C. Death of Aurangzeb  3. 1545 
D. Death of Babur   4. 1707 
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 A B C D 
a. 3 2 4 1 
b. 3 1 4 2 
c. 2 3 4 1 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf. 
A. mf;ghpd; ,wg;G   1. 1530 
B. n~h;~htpd; ,wg;G  2. 1605 
C. mTuq;frPg;gpd; ,wg;G  3. 1545 
D. ghghpd; ,wg;G   4. 1707 
 A B C D 
a. 3 2 4 1 
b. 3 1 4 2 
c. 2 3 4 1 
d. 1 3 4 2 
e. tpil njhpatpy;iy 

 
66. Choose the correctly matched pairs 

Work     Content 
1. Ain-I-Akbari  - History of Mughal with special emphasis in Akbar. 
2. Padshah Namah  - Describes the first ten years of reign of Shah Jahan 
3. Tarikh I Shershahi - Elaborates on Shershah and Islam Shah 
a. 1 only  b. 1 and 2 only   c. 1 and 3 only  
d. 2 only  e. Answer not known 
rhpahf nghUe;jpa ,izfisj; Njh;e;njL 
E}y;fs;    cs;slf;fk; 
1. ma;d;-,-mf;ghp  - mf;giu gw;wpa rpwg;G Fwpg;Gld; KfyhatuyhW 
2. gj;rh ehkh   - Kjy; gj;JtUl ~h[`hdpd; Ml;rp gw;wpa tpsf;fk; 
3. jhhpf; , n~h;~hfp  - n~h;~h kw;Wk; ,];yhk; ~hit gw;wpa tptuk; 
a. 1 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk;   
d. 2 kl;Lk;  e. tpil njhpatpy;iy 
 

67. Jauna Khan was the origined name of __________ 
a. Ghiyan-Ud-din Tughlaq  b. Firuz Shah Tughlaq c. Ala-ud-din Khalji  
d. Muhammad Bin Tughlaq e. Answer not known 
[Pdhfhd; ve;j ngaiu #l;bf; nfhz;lhh; 
a. fpahR-jPd;-Jf;sf;   b. nghNuh~;-~h-Jf;sf; c. myhTjPd; fpy;[p  
d. Kfk;kJ gpd; Jf;sf;  e. tpil njhpatpy;iy 

 
68. Who established the muslim rule in the 12th century A.D?  

a. Alauddin Khilji  b. Mohammad Ghori b. Mohammad – bin – Tughluq 
d. Babur   e. Answer not known 
fp.gp 12k; E}w;whz;by; ahh; ,e;jpahtpy; K];yPk; muir Vw;gLj;jpdhh;? 
a. myhTjPd; fpy;[p  b. Kfk;kJ Nfhhp  b.Kfk;kJgpd; Jf;sf;  
d. ghgh;   e. tpil njhpatpy;iy 

 
69. During the period of Muhammad bin Tughluq in which place did the revolt broke out? 

a. Allahabad    b. Aurangabad  c. Hyderabad   
d. Dauladabad  e. Answer not known 
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Kfk;kJ gpd; Jf;sf; fhyj;jpy; ve;j ,lj;jpy; Gul;rp eilngw;wJ. 
a. myfhghj;   b. mTuq;fhghj;   c. i`juhghj;    
d. jTyjhghj;   e. tpil njhpatpy;iy 
 

70. Which dynasty did Krishna Devaraya belong to? 
a. Tuluva  b. Sangama   c. Aravidu 
d. Chalukya  e. Answer not known 
fpU~;z Njtuhah; ve;j tk;rj;ij rhh;e;jth; 
a. JSth  b. rq;fkh   c. MutpL   
d. rhSf;fpah  e. tpil njhpatpy;iy 

 
71. Along which river bank did Vijaya Nagar Empire was established  

a. Narmada  b. Thungabadra  c. Godawari  
d. Krishna  e. Answer not known 
tp[a efh; NguuR ve;j ejpf;fiuNahuk; epWtg;gl;lJ? 
a. eh;kij  b. Jq;fgj;uh   c. Nfhjhthp  
d. fpU~;zh  e. tpil njhpatpy;iy 
 

72. The Delhi Sultanate period – Match the following: 
A. Slave dynasty   1. 1451 – 1526 
B. Khilji dynasty   2. 1206 – 1290 
C. Tughlaq dynasty  3. 1320 – 1414 
D. Lodi dynasty   4. 1290 – 1320  
 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 1 4 3 2 
d. 2 3 4 1 
e. Answer not known 
jpy;yp Ry;jhdpa NguuR – nghUj;Jf: 
A. mbik tk;rk;   1. 1451-1526 
B. fpy;[p tk;rk;   2. 1206-1290 
C. Jf;sf; tk;rk;   3. 1320-1414 
D. Nyhb tk;rk;   4. 1290-1320  
 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 1 4 3 2 
d. 2 3 4 1 
e. tpil njhpatpy;iy 

 
73. The first battle of Tarain was fought between 

a. Prithviraj Chauhan & Muhammad Ghori 
b. Prithviraj Chauhan & Mahmud Ghazni 
c. Jeya Chandran & Muhammad Ghori 
d. Jeyachandran & Mahmud Ghazni  
e. Answer not known 
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Kjyhk; jnua;d; Nghh;> ahh; ahUld; eilngw;wJ. 
a. gpUj;tpuh[; nrsfhd; kw;Wk; KfkJ Nfhhp 
b. gpUj;tpuh[; nrsfhd kw;Wk; f[pdpKfkJ 
c. n[are;jpud; kw;Wk; KfkJ Nfhhp 
d. n[are;jpud; kw;Wk; f[pdpKfkJ 
e. tpil njhpatpy;iy 

 
74. Match the following 

Rajput Kingdom   Capital 
A. Tomaras    1. Bundel khand 
B. Chauhans    2. Delhi 
C. Paramaras   3. Ajmer 
D. Chandelas    4. Malwa  
 A B C D 
a. 2 4 1 3 
b. 1 2 3 4 
c. 4 3 1 2 
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf 
uh[Gj;jpu muRfs;   jiyikaplk; 
A. Njhkh;    1. Ge;Njy;fe;j; 
B. nrsfhd;    2. jpy;yp 
C. gukh;    3. m[;kPh; 
D. re;Njyh;    4. khy;th 
 A B C D 
a. 2 4 1 3 
b. 1 2 3 4 
c. 4 3 1 2 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

75. Match the following: 
Rulers     Period 
A. Qutb – ud – din Aibak   1. 1236-1240 
B. Iltutmish     2. 1265-1287 
C. Razia     3. 1206-1210 
D. Balban     4. 1210-1236 
 A B C D 
a. 3 4 2 1 
b. 3 4 1 2 
c. 1 4 3 2 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf 
murh;fs;     fhyk; 
A. Fj;GjPd; Igf;    1. 1236 – 1240 
B. ,y;Jkp~;     2. 1265 – 1287 
C. u]pah     3. 1206 – 1210 
D. ghy;gd;     4. 1210 – 1236 



 

22 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

 A B C D 
a. 3 4 2 1 
b. 3 4 1 2 
c. 1 4 3 2 
d. 2 4 1 3 
e. tpil njhpatpy;iy 

 
76. Match the following: 

A. Ibn Battuta    1. Moroccan traveller 
B. Jalal – ud – din yaqut   2. Abyssinian slave 
C. Raziya     3. Sultan 
D. Altuniya     4. Governor in Punjab  

  A B C D 
 a. 1 2 3 4 
 b. 2 4 3 1 
 c. 2 3 1 4 
 d. 1 4 2 3 

e. Answer not known 
 nghUj;Jf. 
 A. ,gpd;J}jh    1. nkhuhf;Nfh gazp 

B. [yhYjPd; ahFj;   2. mgprPdpa mbik 
C. u]pah    3. Ry;jhd; 
D. my;Jdpah    4. gQ;rhg; MSeh; 

  A B C D 
 a. 1 2 3 4 
 b. 2 4 3 1 
 c. 2 3 1 4 
 d. 1 4 2 3 

e. tpil njhpatpy;iy 
 

77. Muhammad bin Tughlaq executed which of the following plans? 

i. Transfer of capital from Delhi to Daulatabad  

ii. Introduction of token currency 

iii. Innovative scheme to expand cultivation  
 a. i, ii   b. i, iii    c. ii, iii 

d. All the above e. Answer not known 
 KfkJ gpd; Jf;sf; Nkw;nfhz;l jpl;lq;fs; ahit  

i. jpy;ypapypUe;J jiyefiu njsyjhghj;Jf;F khw;wpdhh;. 
ii. milahs ehzaq;fis mwpKfg;gLj;jpdhh;. 

iii. Ntshz;ikia tphpthf;Ffpw GJikahd jpl;lk; 
a. i, ii    b. i, iii    c. ii, iii 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 

78. Feroz Tughlaq executed which of the following? 
1. Reintroduced the system of hereditary appointments to offices.  
2. Increased the salaries of government officials.  
3. While taking up the revenue administration, reduced several taxes.  
4. Undertook many irrigation projects.  
a. (1) & (2)       b. (2) & (3)   c. (3) & (4)      
d. All the above e. Answer not known 
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/ngNuh]; Jf;sf; Nkw;nfhz;lit ahit? 
1. mYtyh;fisg; guk;giuahfg; gzpakh;j;Jfpw Kiwia kPz;Lk; 

mwpKfg;gLj;jpdhh;. 
2. murhq;f mYtyh;fspd; Cjpaj;ij mjpfg;gLj;jpdhh;. 
3. tUtha; eph;thfj;ij xOq;F nra;fpwNghJ gy thpfisf; Fiwj;jhh;. 
4. gy ghrdj; jpl;lq;fis Nkw;nfhz;lhh; 

a. (1) & (2)        b. (2) & (3)   c. (3) & (4)      
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

79. Who imposed jizya tax on non-muslims for the first time in India? 
a. Qutb – ud – din Aibak b. Firoz Tughlaq  c. Ghiyas – ud – din Balban 
d. Aurangazeb   e. Answer not known 
,e;jpahtpy; Kjd; Kiwahf ,];yhkpah; my;yhjth; kPJ “[p]pah” vDk; thpia 
tpjpj;jth; ahh;? 
a. Fj;Gjpd; Igf;  b. /ngNuh]; Jf;sf;  c. fpah];-cj;-jpd;-ghy;gd; 
d. xsuq;frPg;   e. tpil njhpatpy;iy 

 

80. Match the following: 
A. Iqta  1. Governors of the provinces  
B. Khalisa  2. Provinces under the Delhi sultanate  
C. Muqtis  3. Land under the direct control of the sultan 
D. Chaudhuris 4. Fiscal claims of hereditary intermediaries  

A B C D 
a. 1 2 3 4 
b. 4 2 1 3 
c. 3 2 1 4 
d. 2 3 1 4 
e. Answer not known 
nghUj;Jf. 
A. ,f;jh  1. khfhz MSeh;fs; 
B. fhyprh  2. nly;yp Ry;jhdpaj;jpd; khfhzq;fs; 
C. Kf;jp  3. Ry;jhdpd; Neub eph;thfj;jpy; ,Ue;j epyq;fs; 
D. nrsj;hpfs;  4. guk;giuahf thp t#ypj;J te;Njhh;. 

A B C D 
a. 1 2 3 4 
b. 4 2 1 3 
c. 3 2 1 4 
d. 2 3 1 4 
e. tpil njhpatpy;iy 

 

81. Match the following 
A. First battle of Tarain  1. 1526 
B. Second battle of Tarain  2. 1192 
C. First battle of Panipet  3. 1556 
D. Second battle of Panipet  4. 1191 
 A B C D 
a.  4 2 1 3 
b. 1 2 3 4 
c. 2 3 1 4 
d. 4 3 1 2 
e. Answer not known 
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nghUj;Jf 
A. Kjyhk; jnua;d; Nghh;  1. 1526 
B. ,uz;lhk; jnua;d; Nghh;  2. 1192 
C. Kjyhk; ghdpgl; Nghh;  3. 1556 
D. ,uz;lhk; ghdpgl; Nghh;  4. 1191 
 A B C D 
a.  4 2 1 3 
b. 1 2 3 4 
c. 2 3 1 4 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

82. Match the following  
A. Subha  1. Town & cities 
B. Parganas  2. Sarkar 
C. District  3. group of villages 
D. Kotwals  4. Province 
 A B C D 
a. 4 3 2 1 
b. 2 3 4 1 
c. 1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf 
A. Rgh    1. efuk; kw;Wk; ngUefuk; 
B. gh;fhdh   2. rh;fhh; 
C. khtl;lk;   3. gy fpuhkq;fs; 
D. nfhj;jthy;  4. khfhzk; 
 A B C D 
a. 4 3 2 1 
b. 2 3 4 1 
c. 1 2 3 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

83. Match the following 
A. Wakil  1. Prime Minister 
B. Qazi  2. Chief Judge 
C. Mir Bhakshi 3. In charge of army 
D. Mir Saman 4. Royal household 
 A B C D 
a. 2 4 1 3 
b. 1 2 3 4 
c. 3 1 2 4 
d. 4 2 3 1 
e. Answer not known 
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nghUj;Jf. 
A. tf;fPy;  1. gpujk ke;jphp 
B. Fth[p  2. jiyik ePjpgjp 
C. kPh;ghf;Ñp  3. ,uhZtj;Jiw mikr;rh; 
D. kPh;rkhd;  4. muz;kid eph;thfk; 
 A B C D 
a. 2 4 1 3 
b. 1 2 3 4 
c. 3 1 2 4 
d. 4 2 3 1 
e. tpil njhpatpy;iy 

 
84. Match the following 

A. Din – i – panah  1. Akbar 
B. Buland Darwaza  2. Humayun 
C. Taj Mahal   3. Shersha 
D. Purana Qila  4. Shahjahan 
 A B C D 
a. 2 1 4 3 
b.  1 2 4 3 
c. 3 1 4 2 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf 
A. jPd; - , - ghdh  1. mf;gh; 
B. Gye;jh;thrh  2. `_khA+d; 
C. jh[;k`hy;   3. n~h;~h 
D. Guhzfpyh   4. ~h[fhd; 
 A B C D 
a. 2 1 4 3 
b.  1 2 4 3 
c. 3 1 4 2 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

85. Which Mughal ruler executed the Zabt or Zabti system to the Deccan provinces? 
a. Shahjahan   b. Akbar   c. Jahangir   
d. Aurangazeb e. Answer not known 
[g;j; my;yJ [g;jp vd;Dk; Kiw ve;j Kfyha murh; fhyj;jpy; jf;fhz 
khfhzq;fSf;Fk; ePbf;fg;ngw;wJ? 
a. ~h[fhd;  b. mf;gh;   c. [`hq;fPh;   
d. xsuq;frPg;  e. tpil njhpatpy;iy 
 

86. Consider the following statement 
1. Horse & Iron were unknown to Indus people. 
2. Copper was the first metal used by the Humans.  
3. Indus people used red quartz stone to design Jewellery 
4. The ratio of weight is doubled as 1 : 2 : 4 : 8 : 16 : 32. 
5. The small weight measure of 16th ratio weighs 13.63gms 
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Which is/are correct statements. 
a. 3, 4, 5    b. 1, 2, 3    c. 2, 3, 4   
d. All the above  e. Answer not known 
gpd;tUk; $w;Wfis ftdp: 
1. rpe;J kf;fs; Fjpiu kw;Wk; ,Uk;ig mwpe;jpUf;ftpy;iy. 
2. kdpjh;fshy; gad;gLj;jg;gl;l Kjy; cNyhfk; jhkpuk;. 
3. rpe;J kf;fs; mzpfyd;fis myq;fhpf;f rptg;G Fthh;l;R fw;fis gad;gLj;jpdh;. 
4. 1 : 2 : 4 : 8 : 16 : 32 Nghd;W vil tpfpjk; ,ul;bg;ghf ,Ue;jJ. 
5. 16d; rpwpa vil tpfpj msT 13.63 fpuhk; MFk;.  
vJ/vit rhpahd $w;W? 
a. 3, 4, 5    b. 1, 2, 3    c. 2, 3, 4   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

87. Which factor was closely responsible for the decline of Indus Valley civilization? 
1. Changes in climate. 
2. Decline of Trade with Mesopotamia. 
3. Drying of water resources. 
4. Flood & shifting course of rivers. 
a. 1 & 2 only   b. 1, 2, 3 only   c. 2, 3, 4 only   
d. All the above  e. Answer not known 
rpe;Jntsp gz;ghl;bd; rhptpw;F neUq;fpa nghWg;Gila fhuzp vJ? 
1. fhyepiy khw;wk; 
2. nkrgNlhkpah cldhd tzpfj;jpy; rhpT. 
3. ePh;epiyfs; tw;wpaJ. 
4. nts;sk; & MWfspd; khwpa Nghf;F 
a. 1> 2 kl;Lk;   b. 1> 2> 3 kl;Lk;   c. 2> 3> 4 kl;Lk;  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

88. Consider the following statement – Ajivikas in Tamil land. 
1. Manimekalai, Nilakesi has reference to Ajivika doctrine. 
2. Nilakesi’s quest for truth takes her to Buddha and Puranan. 
3. Chola’s had given royal Patronage to Ajivikas. 
Which is/are incorrect? 
a. 1 only  b. 2 only   c. 1 & 2 only   
d. 3 only  e. Answer not known 
jkpo;ehl;by; Mrptfh;fs; gw;wpa gpd;tUk; $w;Wfis ftdp. 
1. kzpNkfiy> ePyNfrp Mfpait Mrptff; nfhs;if Fwpj;J Fwpg;gpLfpd;wd. 
2. ePyNfrpapd; cz;ikf;fhd Njly; mtis Gj;jhplKk;> GuhzdplKk; ,l;Lr;nrd;wJ. 
3. mrPtfh;fis Nrhoh;fs; Mjhpj;jdh;. 
vJ/vit rhpahdJ my;y? 
a. 1 kl;Lk;  b. 2 kl;Lk;   c. 1> 2    
d. 3 kl;Lk;  e. tpil njhpatpy;iy 
 

89. Consider the following statement – Regarding Jainism in Tamilnadu. 
1. Jainism spread across Tamilnadu in 3rd century CE (AD). 
2. Pandava Padukkai is bed of Jain Saints. 
3. Manimegalai mentions about Aravol Palli 
4. Gownthiyadigal was a male Jain monk. 
Which is/are correct? 
a. 1 & 2 only   b. 1, 2, 3 only   c. 2, 3, 4 only   
d. All the above  e. Answer not known 
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jkpo;ehl;by; rkzk; njhlh;ghd gpd;tUk; $w;Wfis ftdp. 
1. ngh.M. %d;whk; E}w;whz;bypUe;J rkzk; jkpo;ehl;by; gutpaJ. 
2. ghz;lth gLf;if rkzj;Jwtpfspd; ,Ug;gplkhf cs;sJ. 
3. ‘mNuhty; gy;yp’ gw;wp kzpNkfiy Fwpg;gpLfpwJ. 
4. nfse;jpabfs; xU Mz; rkzj; Jwtp 
vJ/vit rhpahdJ? 
a. 1, 2 kl;Lk;   b. 1, 2, 3 kl;Lk;  c. 2, 3, 4 kl;Lk; 
d. midj;Jk;   e. tpil njhpatpy;iy 
 

90. Who among the following is not a Jain king? 
1. Chandra Gupta Maurya  2. King Kharavela 
3. Mahendravarman  4. Kopperuncholan 
a. 1, 2 only   b. 2, 3, 4 only   c. 1, 4 only   
d. 4 only   e. Answer not known 
gpd;tUgth;fspy; rkzkjj;ij rhh;e;j kd;dd; my;yhjtd; ahh;? 
1. re;jpuFg;j nkshpah;  2. kd;dd; fhuNtyd; 
3. kNfe;jputh;kd;   4. Nfhg;ngUQ;Nrhod; 
a. 1> 2 kl;Lk;   b. 2> 3> 4 kl;Lk;  c. 1> 4 kl;Lk; 
d. 4 kl;Lk;   e. tpil njhpatpy;iy 
 

91. Which among the following is incorrectly matched? 
a. Vinaya Pittaka  - Monastic rules 
b. Sutta Pittaka  - discourse of Buddha 
c. Abhidhamma Pittaka - Buddhist Philosophy 
d. Jataka Tales  - Buddha’s Parinirvana 
e. Answer not known 
jtwhd ,izia Njh;T nra;f. 
a. tpda gPlfk;  - Jwtw tpjpfs; 
b. Rj;j gPlfk;   - Gj;jhpd; Nghjidfs; 
c. mgpjk;k gPlfk;  - Gj;j jj;Jtq;fs; 
d. [hjf fijfs;  - Gj;jhpd; ghpeph;thzh 
e. tpil njhpatpy;iy 
 

92. Who built the magnificent rock-cut monolithic kailasa temple at Ellora? 
a. Dandidurga  b. Krishna I   c. Govindha II  
d. Krishna III   e. Answer not known 
vy;Nyhuhtpy; nghpaghiwiaf; File;J xNu fy;yhyhd ifyhrh; Myaj;ijahh; 
mikj;jhh;? 
a. je;jp Jh;f;fh;  b. Kjyhk; fpU~;zh;  c. ,uz;lhk; Nfhtpe;jh;  
d. %d;whk; fpU~;zh; e. tpil njhpatpy;iy 
 

93. Choose the literature which does not mention about the Pallavas: 
a. Avanthi Sundarakatha  b. Kalingathuparani   c. Periyapuranam 
d. Valayapathi   e. Answer not known 
gy;yth;fisg; gw;wp Fwpg;gplhj ,yf;fpaj;ijj; Njh;e;njLf;fTk;.  
a. mte;jp Re;jhp fij  b. fypq;fj;Jg;guzp    c. nghpa Guhzk; 
d. tisahgjp   e. tpil njhpatpy;iy 
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94. Match the following: 
A. Vanquishing the Kalabharas 1. Simhavishnu 
B. Shiva temple at Tiruvadi  2. Mahendravarman I 
C. Battle of Manimangalam 3. Narasimhavarman I 
D. Battle of Sripurambiyam 4. Vijayalaya Chola 

  A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 3 1 2 4 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf: 
A. fsg;gpuh;fis Kwpabj;jJ  1. rpk;ktp~;Z 
B. jpUtjpapy; rpthyak;   2. Kjyhk; kNfe;jputh;kd;  
C. kzpkq;fyk; Nghh;   3. Kjyhk; eurpk;kth;kd;  
D. jpUGwk;gpak; Nghh;   4. tp[ahya Nrhod; 

A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 3 1 2 4 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

95. Choose the incorrect statement related to Sri Ramanujar: 
a. Monastries established at Sringeri, Dvaraka, Badrinath, Puri. 
b. He underwent philosophical training under Yatavaprakasar in Sankara school of 

thought.  
c. He influenced some temple authorities to permit the social groups outside the 

Varnashrama system to enter into temple atleast once a year. 
d. After his death, two separate schools under Vedanta Desikar and Manavala 

Mamuni were developed.  
e. Answer not known 
= uhkhD[h; gw;wp jtwhd $w;iw Njh;T nra;f.  

a. rpUq;Nfhp> Jthuif> gj;hpehj;> G+hp> ,lq;fspy; klq;fs; cUthapd.  
b. rq;fuhpd; Nfhl;ghl;il Vw;Wf;nfhz;l ahjtgpufhrhplk; jj;Jtg; gapw;rp ngw;whh;.  
c. Nfhapy; eph;thfpfs; rpyh; cjtpNahL th;zhrpuk mikg;Gf;F ntspNa 

,Ue;NjhiuAk; Mz;bw;F xUKiwahtJ Nfhapy;fspy; Eioa mDkjpf;fr; 
nra;jhh;.  

d. mtUila ,wg;gpw;F gpwF Ntjhe;j Njrpfh;> kzths khKdpfs; MfpNahhpd; 
jiyikapy; ,U gphpTfs; Njhd;wpd.  

e. tpil njhpatpy;iy 
 

96. In 1876, a German Ethnologist and naturalist ________ conducted an excavation at 
Adichanallur.  
a. Andrew Jagor   b. Mortimar Wheeler c.  Robert Caldwell   
d. Alexander Rea  e. Answer not known 
1876 Mk; Mz;L n[h;kdpiar; Nrh;e;j ,aw;iftpayhsUk;> ,d tiutpayhsUkhd 
_________ Mjpr;rey;Yhhpy; mfo;tha;it Nkw;nfhz;lhh;.  
a. Mz;bU [hfh;  b. khh;Bkh; tPyh;   c. uhgh;l; fhy;Lnty;   
d. mnyf;]hz;lh; hP  e. tpil njhpatpy;iy 
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97. Choose the incorrect pair regarding Sangam Age  
a. Age   - Iron Age 
b. Culture  - Megalithic 
c. Sathyaputra - Vendar  
d. Karikalan  - Greatest Chola of Sangam age 
e. Answer not known 
rq;f fhyk; njhlh;ghdtw;Ws; jtwhdJ vJ?  
a. fhyk;   - ,Uk;Gf; fhyk;  
b. gz;ghL  – ngUq;fw;fhyk;  
c. rj;aGj;jpuh;  – Nte;jh;  
d. fhpfhyd;   - rq;ffhy jiyaha Nrho murh;  
e. tpil njhpatpy;iy 
 

98. Match the following: 
A. Pattinam   1. Old Village 
B. Puhar   2. Coastal town 
C. Mudur   3. Big Village 
D. Perur   4. Harbour 
 A B C D 
a. 4 3 1 2  
b. 2 4 1 3 
c. 2 4 3 1 
d. 4 2 1 3 
e. Answer not known 
nghUj;Jf: 
A. gl;bdk;    1. Goikahd fpuhkk;  
B.  Gfhh;   2. flw;fiu efuk;  
C. %J}h;   3. nghpa fpuhkk;  
D. Ng&h;   4. JiwKfk;  
 A B C D 
a. 4 3 1 2  
b. 2 4 1 3  
c. 2 4 3 1  
d. 4 2 1 3  e. tpil njhpatpy;iy 

 

99. Consider the following statements related to the Gautamiputra Satakarni: 
1. Information about him causes from his coins, the satavanhana inscriptions and the 

royal genealogies in various Puranas. 
2. Best Known inscription is the Nashik Prashasti, inscription of his mother Gautami 

Balashri, which credits him with extensive military conquests.  
a. only 1  b. only 2   c. Both 1 and 2   
d. None   e. Answer not known 
nfsjkGj;u rjfh;dp njhlh;ghd gpd;tUk; thf;fpaq;fis ftdpAq;fs;. 

1. mtiug; gw;wpa jfty;fs; mtuJ ehzaq;fs;> rhjthfd fy;ntl;Lfs; kw;Wk; 
gy;NtW Guhzq;fspy; cs;s mur tk;rhtspapy; ,Ue;J fpilf;fpd;wd 

2. mtuJ jhahh; nfsjk ghy=apd; ehrpf; gpu~];jp fy;ntl;L kpfTk; gpugykhd 
fy;ntl;L MFk;> ,J mthpd; tphpthd ,uhZt ntw;wpfisg; Nghw;wpaJ.  

a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1, 2 ,uz;Lk;   
d. vJTkpy;iy  e. tpil njhpatpy;iy 
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100. Brahmi script in Ashoka’s pillar inscription was deciphered by _____. 
a. Thomas Saunders  b. James Prinsep  c. Sir John Marshal    
d. William Jones  e. Answer not known 
mNrhfuJ J}z;fspy; cs;s gpuhkp vOj;Jf;fis fz;Lgpbj;jth; _______. 
a. jhk]; rhz;lh;];  b. N[k;]; gphpd;nrg;  c. rh; [hd; khh;~y;   
d. tpy;ypak; N[hd;];  e. tpil njhpatpy;iy 
 

101. Arrange the following chronologically:  
a. The Sangama dynasty, the Aravidu dynasty. The Saluva dynasty, the Tuluva 

dynasty.  
b. The Sangama dynasty, the Saluva dynasty, the Tuluva dynasty, the Aravidu 

dynasty.  
c. The Saluva dynasty. the Sangama dynasty, the Tuluva dynasty, the Aravidu 

dynasty.  
d. The Sangama dynasty, the Tuluva dynasty, the Saluva dynasty, the  Aravidu 

dynasty.  
e. Answer not known 

 fPo;fz;ltw;iw fhythpirg;gLj;Jf:  
a. rq;fk tk;rk;> MutPL tk;rk;> rhSttk;rk;> JSt tk;rk;  
b. rq;fk tk;rk;> rhSt tk;rk;> JSt tk;rk;> MutPL tk;rk;  
c. rhSt tk;rk;> rq;fk tk;rk;> JSt tk;rk;> MutPL tk;rk;  
d. rq;fk tk;rk;> JSt tk;rk;> rhSt tk;rk;> MutPL tk;rk;  
e. tpil njhpatpy;iy 

 
102. Mohammed Gawan Madrasa is a large library containing a collection of 3000 

manuscripts is situated at _______ _______  
a. Berar    b. Bijapur    c. Bidar    
d. Anmadnagar   e. Answer not known 
Kfk;kJ fthd; xU kjurhit epWtp mjpy; 3000 ifnaOj;J E}y;fis  itj;jpUe;j 
,lk; __________.  
a. gPuhh;    b. gP[g;G+h;   c. gPlhh;  
d. mfkJ efh;   e. tpil njhpatpy;iy 

 
103. Choose the correct statements 

1. Vijayanagar kingdom was ruled by the kings of five dynasties for a period of 
more than 300 years  

2. Abdur Razzak , the Persian ambassador, visited Zamorin of Kochi  
3. The Bahmani kings issued large number of gold coins bearing the images of 

various deities. 
a. 1 & 2   b. 1 & 3   c. 2 & 3 
d. all the above  e. Answer not known 
rhpahd $w;wpidj; Njh;e;njL:  
1. tp[aefu murpd; murh;fs; Ie;J tk;rq;fshf Rkhh; 300 Mz;Lfs; Ml;rp 

nra;jdh;.  
2. mg;Jh; urhf; ghurPfj; J}Jtuhff; nrhr;rpapypUe;j rhKj;jpupapd; mitf;F te;jhh;.  
3. ghkpdp murh;fs; mjpf mstpy; jq;f ehzaq;fis gy;NtW tifahd 

nja;tq;fspd; cUtq;fSld; ntspapl;ldh;.  
a. 1 & 2   b. 1 & 3   c. 2 & 3 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
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104. _______ was the first to preach his doctrine of devotion in Hindi.  
a. Meerabhai   b. Ramananda   c. Kabir  
d. Namadev   e. Answer not known 
Kjd; Kjyhf ,e;jpnkhopapy; jdJ kjj; jj;Jtg; gpur;rhuj;ij Nkw;nfhz;lth; 
__________.  
a. kPuhgha;  b. ,uhkhde;jh;  c. fgPh;   
d. ehkNjth;   e. tpil njhpatpy;iy 

 
105. Consider the following   

Assertion (A): The bhakti reformers preached the principle of monotheism.  
Reason (R):  They criticized idol worship  
a. A is correct, R is not the correct explanation of A  
b. A and R are wrong  
c. A is correct, R is the correct explanation of A  
d. A is wrong, R is correct  
e. Answer not known 
$w;Wfis Muha;f.  
$w;W (A): kj rPh;jpUj;jthjpfs; xU flTs; nfhs;ifiag; Nghjpj;jdh;.  
fhuzk; (R): mth;fs; rpiy topghl;il tpkh;rpj;jdh;.  
a. $w;W (A) rhp> fhuzk; (R) $w;wpd; rhpahd tpsf;fk; my;y   
b. $w;W (A) jtW> fhuzk; (R) jtW  
c. $w;W (A) rhp> fhuzk; (R) $w;wpd; rhpahd tpsf;fk; MFk;  
d. $w;W (A) jtW> fhuzk; (R) rhp  
e. tpil njhpatpy;iy 

 
106. ______ is a land tenure system in which the collection of the revenue of an estate and 

the power of governing it were bestowed upon on official of the state.  
a. Jagirdari    b. Mahalwari    c. Zamindari    
d. Mansabdari   e. Answer not known 
_______ epy cilik chpik Kiwapy;> epyj;jpw;fhd thpia t#ypf;Fk; nghWg;Gk;> 
me;epyj;ij ePH;tfpf;Fk; nghWg;Gk; muR mjpfhhpfsplk; xg;gilf;fg;gl;bUe;jJ.  
a. [hfPh;jhhp   b. kfy;thhp   c. [kPd;jhhp    
d. kd;rg;jhhp   e. tpil njhpatpy;iy 

107. ________was executed by Jahangir for instigating prince Khusrau to rebel.  
a. Guru Arjan Dev  b. Guru Har Gobind  c. Guru Tegh Bahadur  
d. Guru Har Rai   e. Answer not known 
,sturh; F];UTld; ,ize;J fyfj;ij J}z;btpl;ljw;fhf [`hq;fPuhy; kuz 
jz;lid tpjpf;fg;gl;lth; _________ Mthh;.  
a. FU mh;[{d; Njt; b. FU `h; Nfhtpe;j;  c. FU Nj[; gfJ}h;   
d. FU `h; uha;   e. tpil njhpatpy;iy 

 
108. Find out the correct statement  

1. Taj Mahal is the epitome of Mughal architecture, a blend of Indian, Persian and 
Islamic style.  

2. The new capital city of Akbar, Agra, enclosed within its wall several inspiring 
buildings.  

3. The Moti Masjid is made extensively of marble.  
4. The Purana Qila is a raised citadel.  
a. 1, 2  b, 2, 3, 4 c. 2, 4  d. All are correct e. Answer not known 
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rhpahd $w;wpidf; fz;Lgpb.  
1. ,e;jpa> ghurPf kw;Wk; ,];yhkpaf; fl;lf;fiyapd; ghzpapy; Kfyhahpd; 

fl;llf;fiyapd; kWtbtkhf jh[;k`hy; cs;sJ.  
2. mf;guJ Gjpa jiyefukhd Mf;uh kw;Wk; mjd; Rw;Wr; Rth;fSf;Fs; gy 

vOr;rpA+l;Lk; fl;llq;fs; cs;sd.  
3. Nkhjp k#jp KOtJk; gspq;Ff; fy;yhy; fl;lg;gl;lJ 
4. 'Guhz fpyh' xU cah;e;j Nfhl;ilahFk;.  
a. 1, 2  b, 2, 3, 4 c. 2, 4  d. midj;Jk; rhp e. tpil njhpatpy;iy 

 
109. From the following statements, find out the correct answer  

1. The ferocious march of Rana Sanga with a formidable force confronted the forces of 
Babur.  

2. After the battle of Kanauj, Akbar became a prince without a kingdom.  
a. (i) is correct.  b. (ii) is correct.   c. (i) and (ii) are wrong.  
d. (i) and (ii) are correct e. Answer not known 
gpd;tUtdtw;wpy; rhpahd $w;wpidf; fz;Lgpb.  
i. uhzh rq;fhtpd; %h;f;fkhd typik tha;e;j gilfs; ghghpd; rf;jptha;e;j gilia 

vjph;nfhz;lJ.  
ii. fd;Ndhrpg; NghUf;Fg;gpd; mf;gh; ehL ,y;yhj xU ,sturh; Mdhh;.  
a. i rhp    b. ii rhp   c. i rhp ii jtW   
d. i kw;Wk; ii rhpahdit  e. tpil njhpatpy;iy 

 
110. From the following statements, find out the correct answer  

1. Sher Shah repaired the Grant Trunk Road from Indus in the west to Sonargaon in 
Bengal.  

2. Akbar laid the foundation for a great empire through his military conquests.  
a. (i) is correct.  b. (ii) is correct   c. (i) and (ii) are correct  
d. (i) and (ii) are wrong  e. Answer not known 
rhpahd tpilia Njh;f 
i. n~h;~h Nkw;fpy; cs;s rpe;J Kjy; tq;fhsj;jpy; cs;s Nrhdh;fhd; tiuapyhd 

fpuhz;l; buq;f; rhiyia rPh;gLj;jpdhh;.   
ii. mf;gh; jdJ kpfg; nghpa gilnaLg;Gfspd; %ykhf khngUk; Nguurpw;F mbj;jsk; 

,l;lhh;.  
a. i rhp    b. ii rhp   c. i kw;Wk; ii rhpahdit   
d. i kw;Wk; ii jtwhdit  e. tpil njhpatpy;iy 
 

111. From the following statements, find out the correct answer  
Assertion (A): Babur won the first Battle of Panipat.  
Reason (R): Babur used artillery in the battle.  
a. A is correct; R is the correct explanation of A.  
b. A is wrong; R is correct.  
c. A and R is wrong.  
d. A is correct ; R is not the correct explanation of A.  
e. Answer not known 
$w;W ($) : ghgh; Kjyhk; ghdpg;gl; Nghhpy; ntw;wp ngw;whh;.  
fhuzk; (fh) : ghgh; gPuq;fpg; gilia Nghhpy; gad;gLj;jpdh; 
a. $w;W (A) rhp> fhuzk; (R) $w;wpd; rhpahd tpsf;fk; MFk;  
b. $w;W (A) jtW> fhuzk; (R) rhp  
c. $w;W (A) jtW> fhuzKk; (R) jtW  
d. $w;W (A) rhp> fhuzk; (R) $w;wpd; rhpahd tpsf;fk; my;y  
e. tpil njhpatpy;iy 
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112. Which of the following pairs is wrongly matched  
a. Bhaskaracharya  - Nannool 
b. Amuktamalyada   - Krishnadevaraya  
c. Jagannatha Panditha -  Rasagangadhara  
d. Allasani Peddana  -  Manucharita  
e. Answer not known 
fPo;f;fz;ltw;Ws; vJ jtwhfg; nghUj;jg;gl;Ls;sJ.  
a. gh];fuhr;rhh;ah   - ed;D}y; 
b. MKf;jkhy;ajh  - fpU~;z Njtuhah;  
c. [fd;dhj gz;bjh; - urfq;fhjuh  
d. my;yrhdp ngj;jz;zh - kDrhpjk; 
e. tpil njhpatpy;iy 

 
113. ____________ treaty brought the first Anglo-Maratha War to an end.  

a. Treaty of Madras   b. Treaty of Pune   c. Treaty of Salbai   
d. Treaty of Bassein  e. Answer not known 

 _______ cld;gbf;if Kjyhk; Mq;fpNya – kuhj;jpag; Nghiu  KbTf;Ff; 
 nfhz;L te;jJ.  
 a. kjuh]; cld;gbf;if  b. G+dh cld;gbf;if   c. rhy;ig cld;gbf;if  

d. Ngrpd; cld;gbf;if e. tpil njhpatpy;iy 
 
114. Find out the correct statement  

1. Afzalkhan was appointed the Governor of the Deccan in 1660 with the main 
purpose of crushing Shivaji.  

2. Senji acted as the first line of defence for Shivaji’s successors.  
3. The revenue administration of Shivaji was humane and beneficent to the 

cultivators.  
4. Sardeshmukhi was an additional 15% of the revenue which Shivaji collected. 
a. 1, 4    b. 2, 3  c. 3 only d. 4 only e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahd $w;wpidj; Njh;e;njL.  
1. rpth[pia mlf;Fk; Kf;fpa Nehf;fpy; 1660 Mk; Mz;L m/g;ry;fhd; jf;fhzj;jpd; 

MSeuhf epakpf;fg;gl;lhh;.  
2. rpth[papd; topj;Njhd;wy;fisg; ghJfhg;gjpy; nrQ;rp Kd;dzpapy; nray;gl;lJ.  
3. rpth[papd; tUtha; eph;thfk;> kdpjhgpkhdk; rhh;e;J> cw;gj;jpr; nra;gth;fSf;F 

rhjfkhf mike;jpUe;jJ.  
4. rh;Nj~;Kfp vd;gJ rpth[p t#ypj;j 15 rjtpfpj $Ljy; tUthahFk;. 
a. 1, 4    b. 2, 3  c. 3 only d. 4 only e. tpil njhpatpy;iy 

  
115. Consider the following. 

Assertion (A): The Third Battle of Panipat paved the way for the rise of British power 
in India.  
Reason (R):  The defeat in this Battle dealt a severe blow to the Marathas and the 
Mughals.  
a. A is correct; R is the correct explanation of A.  
b. A is correct; R is wrong.  
c. Both A and R are wrong.  
d. A is correct; but R is not the correct explanation of A.  
e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f.  
$w;W (A) : %d;whk; ghdpg;gl; Nghh; Mq;fpNyahpd; mjpfhu vOr;rpf;F toptFj;jJ.  
fhuzk; (R): ,j;Njhy;tp kuhj;jpaUf;Fk; KfyhaUf;Fk; xU nghpa mjphr;rpiaf; 
nfhLj;jJ.   
a. $w;W rhp> fhuzk; $w;wpd; rhpahd tpsf;fk; MFk;.  
b. $w;W rhp> fhuzk; jtW  
c. $w;W  kw;Wk; fhuzk; jtwhdit  
d. $w;W rhp> fhuzk; $w;wpd; rhpahd tpsf;fk; my;y  
e. tpil njhpatpy;iy 

 
116. Arrange the successors of Shivaji chronologically.  

a. Sambhaji, Shahu, Rajaram, Sambhaji II  
b. Sambhaji, Rajaram, Shahu, Sambhaji II  
c. Rajaram, Sambhaji, Shahu, Sambhaji II  
d. Sambhaji, Sambhaji II, Rajaram, Shahu 
e. Answer not known 
rpth[papd; Ml;rpf;Fg; gpwF te;jth;fisf; fhy thpirg; gb vOjTk;.  
a. rhk;gh[p> rh`{> uh[huhk;> ,uz;lhk; rhk;gh[p  
b. rhk;gh[p> uh[huhk;> rh`{> ,uz;lhk; rhk;gh[p  
c. uh[huhk;> rhk;gh[p> rh`{> ,uz;lhk; rhk;gh[p  
d. rhk;gh[p> ,uz;lhk;l rhk;gh[p> uh[huhk;> rh`{  
e. tpil njhpatpy;iy 

 
117. Consider the following 

Statement: The engineering skill of Harappans was remarkable.  
Reason: Building of docks after a careful study of tides, waves and currents. 
a. Statement and reason are correct. 
b. Statement is wrong. 
c. Statement is correct, but the reason is wrong. 
d. Both statement and reason are wrong. 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W   : `ug;gh kf;fspd; nghwpapay; jpwd; Fwpg;gplj; jf;fJ 
fhuzk; : flypd; miyfs;> Xjq;fs; ePNuhl;lj;ijf; fzpj;j gpd; fg;gy; fl;Lk; 
jsj;ijf; fl;bapUg;gJ. 
a. $w;Wk; fhuzKk; rup 
b. $w;W jtwhdJ> fhuzk; rupahdJ 
c. $w;W rupahdJ> Mdhy; mjw;fhd fhuzk; jtwhdJ. 
d. $w;W kw;Wk; fhuzk; jtwhdit. 
e. tpil njhpatpy;iy 

 
118. Find out the wrong statement. 

a. Megasthanese has mentioned Madurai in his account. 
b. Hien Tsang came to the Tamil city of Kancheepuram. 
c. Kovalan and Kannagi lived in Kancheepuram. 
d. Iraq is mentioned in Pattinapalai. 
e. Answer not known 
jtwhd njhliuf; fz;lwpf. 
a. nkf];jdp]; jd;Dila gazf; Fwpg;Gfspy; kJiuiag; gw;wpf; Fwpg;gpl;Ls;shu;. 
b. Athd; Rthq; jkpo;ehl;L efuhd fhQ;rpGuj;jpw;F te;jhu;. 
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c. NfhtyDk;> fz;zfpAk; fhQ;rpGuj;jpy; tho;e;jdu;. 
d. <uhf; efuk; gl;bdg;ghiyapy; Fwpg;gplg;gl;Ls;sJ. 
e. tpil njhpatpy;iy 

 
119. Find out the wrong pair:  
 a. Ahimsa   - not to injure  
 b. Satya   - to speak truth  
 c. Asteya   - not to steal  
 d. Brahmacharya  - married status  

e. Answer not known 
 jtwhd ,iziaf; fz;Lgpb.  
 a. mfpk;ir   - fhag;gLj;jhky; ,Uj;jy;  
 b. rj;ah   - cz;ikNgRjy;  
 c. m];Nja  - jpUlhik  
 d. gpuk;kr;rhpah  - jpUkz epiy  

e. tpil njhpatpy;iy 
 
120. Match the following:  

A. Angas    1. Vardhamana  
B. Mahavira    2. monks  
C. Buddha    3. Buddhist shrine  
D. Chaitya    4. Sakya muni  
E. Bhikshus    5. Jain text  
 A B C D E 
a. 5 1 3 4 2 
b. 5 1 4 3 2 
c. 2 3 4 5 1 
d. 1 2 3 4 5 
e. Answer not known 
nghUj;Jf: 
A. mq;fq;fs;   1. th;jkhdh 
B. kfhtPuh;   2. Jwtpfs;  
C. Gj;jh;   3. ngsj;jf; Nfhtpy;fs;  
D. irj;ah   4. rhf;fpaKdp  
E. gpl;Rf;fs;   5. rkz E}y;  
 A B C D E 
a. 5 1 3 4 2 
b. 5 1 4 3 2 
c. 2 3 4 5 1 
d. 1 2 3 4 5 
e. tpil njhpatpy;iy 

 
121. Which of the statements given below is/are correct?  

1. Chandragupta Maurya was the first ruler who unified entire India under one 
political unit.  

2. The Arthashastra provides information about the Mauryan administration  
 a. only 1    b. only 2    c. both 1 and 2    

d. neither 1 nor 2   e. Answer not known 
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 fPNo nfhLf;fg;gl;Ls;s $w;Wfspy; vJ / vit rhp.  
1. xl;Lnkhj;j ,e;jpahit xNu Ml;rpapd; fPo; ,ize;j Kjy; murh; re;jpuFg;j 
nkshpah; Mthh;.  

2. nkshpahpd; eph;thfk; gw;wpa nra;jpfis mh;j;jrh];jpuk; toq;FfpwJ. 
 a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1, 2 Mfpa ,uz;Lk;  

d. 1k; ,y;iy 2k; ,y;iy e. tpil njhpatpy;iy 
 
122. Match the following 

A. Khajuraho    1. Odisha 
B. Konark    2. Hampi 
C. Dilwara    3. Madhya Pradesh 
D. Virupaksha   4. Rajasthan 
 A B C D 
a. 3 1 4 2 
b. 4 3 2 1 
c. 1 4 2 3 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf:  
A. f[{uhNfh    1. Xbrh  
B. nfhdhuf;    2. `k;gp  
C. jpy;thuh    3. kj;jpag;gpuNjrk;  
D. tpUg;ghf;rh   4. uh[];jhd;  
 A B C D 
a. 3 1 4 2 
b. 4 3 2 1 
c. 1 4 2 3 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
123. Assertion: The second battle of Tarain was lost by Prithiviraj.  

Reason: There was disunity among the Rajputs  
a. A and R are true and A is the correct explanation of R 
b. A and R are true and A is not the correct explanation of R 
c. A true and R false 
d. A false and R true 
e. Answer not known 

 $w;W  : ,uz;lhk; jnua;d; Nghhpy; gpUjptpuh[; Njhy;tpaile;jhh;. 
 fhuzk; : uh[Gj;jpuh;fspilNa xw;Wik ,y;iy  

a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk; 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp kw;Wk; R jtW 
d. A jtW kw;Wk; R rhp 
e. tpil njhpatpy;iy 

 
124. Consider the following statements and find out which is/are correct. 

1. Raksha Bandan tradition is attributed to Rajputs. 
2. Tagore started a mass Raksha Bandan festival during Partition of Bengal 
3. Raksha Bandan was to counter the British attempt to create a divide between 

Hindus and Muslims.  
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   a. 1 is correct     b. 2 is correct      c. 3 is correct   
d. All the above are correct  e. Answer not known 

 fPo;f;fhZk; $w;Wfis Ma;f. mtw;wpy; vJ / vit rhpahdit  vd;gijf; 
fz;lwpaTk;.  
1. 'uf;~hge;jd;' kuG uh[Gj;jpuh;fSilaJ. 
2. tq;fg;gphptpidapd;NghJ utPe;jpuehj; jh$h; ngUkstpy; kf;fs;  gq;Nfw;w 

'uf;~hge;jd;' tpohitj; njhlq;fpdhh;.  
3. ,e;Jf;fisAk; K];yPk;fisAk; gphpg;gjw;fhf Mq;fpNyah; Nkw;nfhz;l  

Kaw;rpfSf;F vjpuhdjhf ,J jpl;lkplg;gl;lJ.  
 a. $w;W 1 rhpahdJ   b. $w;W 2 rhpahdJ  c. $w;W 3 rhpahdJ  

d. midj;Jk; rhpahdit   e. tpil njhpatpy;iy 
 
125. Who among the following Pandya rulers is known for ending the Kalabhra rule?  

a. Kadunkon  b. ViraPandyan   c. Kun Pandyan   
d. Varaguna  e. Answer not known 

 fPo;f;fhZk; ghz;ba murh;fSs;> fsg;gpuh; Ml;rpia Kbj;Jitj;jth; vd 
mwpag;gLgth; ahh;?  

 a. fLq;Nfhd;   b. tPughz;bad;   c. $d; ghz;bad;   
d. tuFzd;   e. tpil njhpatpy;iy 

 
126. Match the following 

A. Madurai     1. Inland traders 
B. Gangaikonda Cholapuram  2. Maritime traders 
C. Anju – vanattar    3. Capital of cholas 
D. Mani – gramattar    4. Capital of pandyas 
 A B C D 
a. 4 3 2 1 
b. 2 3 1 4 
c. 1 2 3 4  
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf:  
A. kJiu      1. cs;ehl;L tzpfh;  
B. fq;ifnfhz;l NrhoGuk;   2. fly;rhh; tzpfh;  
C. mQ;R tz;zj;jhh;   3. Nrhoh;fspd; jiyefh;  
D. kzp – fpuhkj;jhh;   4. ghz;bah;fspd; jiyefh; 
 A B C D 
a. 4 3 2 1 
b. 2 3 1 4 
c. 1 2 3 4  
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 
127. Who was the greatest ruler of Sangama Dynasty? 

a. Bukka     b. Devaraya II    c. Harihara II   
d. Krishna Devaraya e. Answer not known 

 rq;fk tk;rj;jpd; kpf rpwe;j Ml;rpahsh; ahh;? 
 a. Gf;fh;   b. Njtuhah - II   c. `hp`uh; - II  

d. fpU~;z Njtuhah; e. tpil njhpatpy;iy 
 



 

38 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

128. Who was the last ruler of the Sangama Dynasty? 
a. Rama Raya   b. Tirumaladeva Raya  c. Devaraya II   
d. Virupaksha Raya II e. Answer not known 

 rq;fk tk;rj;jpd; filrp murh; ahh;? 
 a. uhkuhah;   b. jpUkyNjtuhah   c. ,uz;lhk; Njtuhah; 

d. ,uz;lhk; tpUghf;ruhah; e. tpil njhpatpy;iy 
 
129. Who ended the Sultanate in Madurai? 

a. Saluva Narasimha b. Devaraya II  c. Kumara Kampana   
d. Tirumala deva Raya e. Answer not known 

 kJiu Ry;jhdpa muir KbTf;Ff; nfhz;L te;jth; 
 a. rhSt eurpk;kh;   b. ,uz;lhk; Njtuhah; c. Fkhu fk;gz;zh   

d. jpUkiyNjtuhah;  e. tpil njhpatpy;iy 
 
130. Consider the following statements and find out which is/are correct  

I. Turquoise throne is one of the bejewelled royal seats of Persian kings described in 
Firdausi’s Shah Nama.  

II. The fertile regions between the rivers Krishna and Tungabhadra and Krishna 
Godavari delta were the zones of conflict among the rulers of Vijayanagar, and 
Bahmani. 

III. Muhammad I was educated at Multan. 
IV. Mahmud Gawan served with great distinction as the Prime Minister under 

Muhammad III. 
  a. I, II, are correct  b. I, II, IV are correct  c. II, III, IV are correct 

d. All the above  e. Answer not known 
   fPo;f;fhZk; $w;Wfis Ma;f. nghUj;jkhd tpilia bf; ,l;L fhl;lTk;.  

I. gr;irf;fye;j ePytz;zj;ijf; nfhz;l tpiyAah;e;j fw;fshy; Md mhpaiz 
ghurPf murh;fspd; muritia myq;fhpj;jd vd gph;njsrp jd;Dila ~h ehkh 
vDk; E}ypy; Fwpg;gpl;Ls;shh;. 

II. tp[aefu> ghkpdp murh;fSf;fpilNa Nkhjy;fs; Vw;gLtjw;Ff; fpU~;zh – 
Jq;fgj;uh ejpfSf;F ,ilg;gl;l nropg;ghd gFjp kw;Wk; fpU~;zh – Nfhjhthp 
ejpfSf;F ,ilg;gl;l fopKfg; gFjpNa fhuzkhf mike;jd.  

III. Kjyhk; KfkJ Ky;jhdpy; fy;tp gapd;whh;.  
IV. KfkJ fthd; %d;whk; KfkJtpd; fPo; jdpj;jd;ik kpf;f gpujk mikr;ruhf 

gzpahw;wpdhh;.  
a. I kw;Wk; II, rhp   b. I, II kw;Wk; IV rhp   c. II, III kw;Wk IV rhp  
d. Nkw;$wpa midj;Jk; rhp  e. tpil njhpatpy;iy 

 

131. Who was the teacher and guardian of Shivaji? 
   a. Dadaji Kondadev  b. Kavi Kalash   c. Jijabai  

d. Ramdas   e. Answer not known 
rpth[papd; MrphpauhfTk; kw;Wk; ghJfhtyuhfTk; ,Ue;jth; ahh;? 
a. jhjh[p nfhz;l Njt; b. ftpfyh~;   c. [P[hgha;   
d. uhk;jh];   e. tpil njhpatpy;iy 

 

132. Match the following. 
A. Shaji Bhonsle   1. Mother of Shivaji 
B. Shambhaji   2. General of Bijapur 
C. Shahu    3. Shivaji’s father 
D. Jijabai    4. Son of Shivaji 
E. Afzal khan   5. Shivaji’s grandson 
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A B C D E 
a. 3 4 5 1 2 
b. 3 4 5 2 1 
c. 2 3 5 4 1 
d. 3 2 1 5 4 
e. Answer not known 
nghUj;Jf:   
m     M 
A. ~h[p Nghd;];Ny  1. rpth[papd; jha; 
B. rhk;gh[p   2. gP[g;g+h; jsgjp 
C. ~hF   3. rpth[papd; je;ij 
D. [P[hgha;   4. rpth[papd; kfd; 
E. mg;ry;fhd;   5. rpth[papd; Ngud; 

A B C D E 
a. 3 4 5 1 2 
b. 3 4 5 2 1 
c. 2 3 5 4 1 
d. 3 2 1 5 4 
e. tpil njhpatpy;iy 

 
133. Consider the following Statement  

Assertion (A) : Many of the Mesolithic sites are found nearby rivers and tanks in 
Tamilnadu 
Reason (R) : Irrigation management developed during Mesolithic period. 
a. A and R are correct and R explains A 
b. A and R are correct but R doesn’t explain A 
c. A is correct but R is incorrect 
d. A and R both are incorrect 
e. Answer not known 
$w;W (A) : jkpofj;jpd; MWfs;> Fsq;fs; mUNf ,ilf; fw;fhy tho;tplq;fs; gy 
fz;Lgpbf;fg;gl;Ls;sd.  
fhuzk; (R) : ePh;g;ghrd Nkyhz;ik ,ilf; fhw;fhyj;jpy; tsh;r;rpaile;J ,Ue;jJ  
a. $w;Wk; fhuzKk; rhp> $w;iwf; fhuzk; rhpahf tpsf;FfpwJ 
b. $w;Wk; fhuzKk; rhp> Mdhy; $w;iwf; fhuzk; rhpahf tpsf;ftpy;iy 
c. $w;W rhp> fhuzk; jtW  
d. $w;Wk; rhp> fhuzk; jtW  
e. tpil njhpatpy;iy 

 
134. The name of the script used in the Sangam Age 

a. Nagari  b. Devanagari  c. Tamil-Brahmi  

d. Granta  e. Answer not known 
rq;f fhyj;jpy; gad;gLj;jg;gl;l vOj;JKiw ahJ?  
a. efhp  b. Njtehfhp    c. jkpo; - gpuhkp   
d. fpue;jk;  e. tpil njhpatpy;iy 

 
135. The notable Chola king credited with bringing the forest lands under the plough and 

for developing irrigational facilities? 
a. Karikalan   b. Rajarajan I   c. Kulothungan   

d. Rajendran I  e. Answer not known 
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fhlhf ,Ue;j ,lq;fis Ntshz; epyq;fshf khw;Wjy;> eph;g;ghrd trjpfis 
Nkk;gLj;Jjy; Mfpa ngUikfSf;F chpa Nrho murd;  
a. fhpfhyd;    b. Kjyhk; ,uh[uh[d; c. FNyhj;Jq;fd;   
d. Kjyhk; ,uhN[e;jpud;  e. tpil njhpatpy;iy 

 
136. Inscription that mentions about the Cheras 

a. Pugalur  b. Girnar   c. Pulimankombai  

d. Madurai  e. Answer not known 
Nruh;fis gw;wpf; Fwpg;gpLk; fy;ntl;L vJ? 
a. Gf@h;  b. fph;ehh;   c. Gypkhd;Nfhk;ig  
d. kJiu   e. tpil njhpatpy;iy 
 

137. The famous Venetian traveller who described Kayal as a great and noble city? 

a. Vasco da Gama  b. Alberuni   c. Marco Polo  

d. Megasthenes  e. Answer not known 

    ‘fhay; rpwe;j efuk;’ vd;W tpthpj;j ntdP]; efug; gazp ahh;?  
a. th];Nfhlfhkh  b. my;ngUdp   c. khh;NfhNghNyh   
d. nkf];jdp];   e. tpil njhpatpy;iy 
 

138. Consider the following Statement 
1. Coins as a medium of exchange were introduced for the first time in the Sangam 

Age. 
2. Prakrit was the language used by the common people in Northern India during 

the Mauryan period. 
3. Vienna Papyrus, a Roman document, mentions trade related to Muziri. 
4. The concept of Thinai is presented in the Tamil grammar work of Pathupaattu. 

a. 1 is correct   b. 2 is correct   c. 1 and 2 is correct  
d. 3 and 4 is correct  e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. nghUs; ghpkhw;wj;Jf;fhd Clfkhf ehzaq;fs; rq;f fhyj;jpy; 

mwpKfg;gLj;jg;gl;ld.  
2. nkshpah; fhyj;jpy; tl ,e;jpahtpy; ,Ue;j rhjhuz kf;fs; gpuhfpUj nkhop 

Ngrpdhh;fs;  
3. Nuhkhdpa Mtzkhd tpad;dh ghg;gpnu]; Krpwp cldhd tzpfj;ijf; 

Fwpg;gpLfpwJ. 
4. jkpo; ,yf;fz E}yhd gj;Jg;ghl;by; jpiz Fwpj;j fUj;J ,lk; ngw;Ws;sJ.  
a. 1 rhp    b. 2 rhp     c. 1 kw;Wk; 2 rhp  
d. 3 kw;Wk; 4 rhp   e. tpil njhpatpy;iy 

 
139. Consider the following Statement  

1. Pathitrupathu speaks about the Pandya kings and their territory. 
2. The Ahanaanuru describes the trading activities at Kaveripoom pattinum. 
3. The Chola Emblem was the tiger and they issued square copper coins with 

images of a tiger. 
4. Neythal is a sandy desert region. 

a. 1 is correct  b. 1 and 3 is correct   c. 2, 3 is correct    
d. 2, 4 is correct  e. Answer not known 
gpd;tUtdtw;iw Ma;f 
1. gjpw;Wg;gj;J ghz;ba murh;fisAk; mth;fspd; Ml;rpg; gFjpfisAk; Fwpj;Jr; 

nrhy;fpwJ 
2. fhtphpg;G+k;gl;bdj;jpy; ele;j tzpf eltbf;iffis mfehD}W tpthpf;fpwJ 
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3. Nrhoh;fspd; rpd;dk; Gyp MFk;. mth;fs; Gyp cUtk; nghwpj;j> rJu tbtpyhd 
nrk;G ehzaq;fis ntspapl;lhh;fs;.  

4. nea;jy; vd;gJ kzw;ghq;fhd ghiytdg; gFjp MFk;  
a. 1 rhp   b. 1 kw;Wk; 3 rhp   c. 2, 3 rhp  
d. 2, 4 rhp   e. tpil njhpatpy;iy 

 
140. Consider the following Statement: 

1. Evidence of iron smelting has been found in Kodumanal and Guttur. 
2. Periplus of Erythren Sea mentions about the pepper trade with India. 
3. Punch marked coins are the earliest coins used in India mostly made of gold. 
4. The Sangam Age has its roots in the Bronze Age. 
a. 1 is correct   b. 1 and 3 is correct  c. 2, 3 is correct   
d. 1, 3, 4 is correct  e. Answer not known 
rhpahd $w;iwj; Njh;e;njLf;fTk;:  
1. ,Uk;ig cUf;fpajw;fhd rhd;Wfs; nfhLkzy;> Fl;^h; Mfpa ,lq;fspy; 

fhzg;gLfpd;wd.  
2. vhpj;hpad; flypd; nghpg;@]; ,e;jpah cldhd kpsF tzpfk; Fwpj;Jf; $WfpwJ  
3. ,e;jpahtpy; njhlf;f fhyj;jpy; gad;gLj;jg;gl;l ehzaq;fspy; cUtq;fs; 

nghwpf;fg;gl;bUe;jd. ehzaq;fs; ngUk;ghYk; jq;fj;jhy; nra;ag;gl;bUe;jd.  
4. rq;f fhyk; ntz;fyf; fhyj;jpy; Nt&d;wj; njhlq;fpaJ 
a. 1 rhp    b. 1 kw;Wk; 3 rhp  c. 2, 3 rhp   
d. 1, 3, 4 rhp    e. tpil njhpatpy;iy 

 
141. Consider the following Statement 

a. The Cheras ruled over Kaveri delta and their capital was Uraiyur. 
b. The Maangulam Tamil-Brahmi inscriptions mention the King Karikalan. 
c. The terms Vanikan and Nigama appear in Tamil-Brahmi inscriptions were 

different types of merchants. 
d. Salt merchants were called Vanikars and they travelled in bullock carts along 

with their family. 
e. Answer not known 

a. 1 is correct  b. 1 and 3 is correct  c. 3 is correct   
d. 4 is correct  e. Answer not known 
rhpahd $w;iwj; Njh;e;njLf;fTk;  
1. Nruh;fs; fhtphpg;gFjpia Ml;rp nra;jdh;. mth;fspd; jiyefh; ciwA+h; MFk;.  
2. khq;Fsk; jkpo; - gpuhkp fy;ntl;Lf; Fwpg;Gfs; murd; fhpfhyidf; Fwpg;gpLfpd;wd.  
3. jkpo; - gpuhkp fy;ntl;Lf; Fwpg;Gfspy; fhzg;gLk; tzpfd;> epfkh Mfpa nrhw;fs; 
tzpfh;spy; ntt;NtW tifapdiuf; Fwpg;gpLtjhFk;  

4. cg;G tpw;wth;fs; tzpfh;fs; vd;W miof;fg;gl;ldh;. mth;fs; tzpfj;Jf;fhf khl;L 
tz;bapy; jq;fs; FLk;gj;jpdUld; gazk; nra;jhh;fs;.  

a. 1 rhp   b. 1 kw;Wk; 3 rhp  c. 3 rhp   
d. 4 rhp   e. tpil njhpatpy;iy 

 
142. Consider the following Statement 

1. Under the Magadha king the mahamatriyas functioned as secretaries to the 
ministers. 

2. Accounts of Megasthanes titled Indica is a useful record about Mauryan polity 
and society. 

3. Nanda’s attempt to build an imperial structure was cut short by Ashoka who 
founded the Mauryan kingdom. 

4. According to tradition, towards the end of his life Chandragupta become an 
ardent follower of Buddhism. 
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a. 1 is correct   b. 2 is correct   c. 1 and 2 is correct    
d. 3 and 4 is correct  e. Answer not known 
rhpahd $w;iwj; Njh;e;njL. 
1. kfj murh;fspd; fPo; ,Ue;j kfhkhj;Nuah;fs; mikr;rh;fSf;Fr; nrayhsh;fshfr; 

nray;gl;lhh;fs;.  
2. nkf];jdp]; vOjpa ‘,z;bfh’ vd;Dk; tuyhw;Wf; Fwpg;G nkshpa Ml;rp mikg;G 

kw;Wk; r%fk; Fwpj;j Mtzkhf tpsq;FfpwJ 
3. xU Nguuirf; fl;likf;f ee;jh; nra;j Kaw;rpia> nkshpa muir cUthf;fpa 

mNrhfh; jLj;J epWj;jpdhh;. 
4. kuGfspd;gb> re;jpuFg;jh; mtuJ tho;tpd; ,Wjpapy; Gj;j rkaj;jpd; jPtpukhd 

Mjuthsuhf ,Ue;jhh;.  
a. 1 rhp   b. 2 rhp   c. 1 kw;Wk; 2 rhp   
d. 3 kw;Wk; 4 rhp   e. tpil njhpatpy;iy 

 
143. Burzahom is an important site of ______________. 

a. Neolithic culture of Kashmir          b. Neolithic culture of Ganga Valley 
c. Neolithic culture of Eastern India  d. Neolithic culture of South India 
e. Answer not known 

 gh;rN`hk; _______ epytpa ,lkhFk; 
 a. fh~;kPhpd; Gjpa fw;fhyg;gz;ghl;L  
 b. fq;ifr; rkntspapd; Gjpa fw;fhyg;gz;ghl;L  
 c. fpof;fpe;jpahtpd; Gjpa fw;fhyg;gz;ghl;L  
 d. njd;dpe;jpahtpd; Gjpa fw;fhyg;gz;ghl;L  

e. tpil njhpatpy;iy 
 
144. __________ was an important source of subsistence for the Harappans. 

a. Agriculture   b. Pottery    c. Craft production    
d. Fishing   e. Answer not known 
`ug;gh kf;fSf;F Kf;fpakhd tho;thjhu topKiwahf ________ ,Ue;jJ.  

 a. Ntshz;ik  b. kl;ghz;lk; nra;jy;  c. iftpidj;njhopy;fs;   
d. kPd; gpbj;jy;   e. tpil njhpatpy;iy 

 
145. Consider the following 

Assertion (A) : There is no evidence of child marriage in Early Vedic period 
Reason (R): Women had been excluded from rituals in the later Vedic period 
a. A and R are correct and R explains A 
b. A and R are correct but R doesn’t explain A 
c. A is correct but R is incorrect 
d. Both A and R are correct 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : Kw;fhy Ntj fhyj;jpy; Foe;ijj; jpUkzk; ,Ue;jjw;fhd rhd;Wfs; 
,y;iy  

 fhuzk; (R) : gpd; Ntjfhyj;jpy; ngz;fs; rlq;FfspypUe;J tpyf;fp itf;fg;gl;ldh; 
 a. $w;Wk; fhuzKk; rhpahdit> fhuzk; $w;iw tpsf;FfpwJ 
 b. $w;Wk; fhuzKk; rhpahdit> Mdhy; fhuzk; $w;iw tpsf;ftpy;iy  
 c. $w;W rhpahdJ> fhuzk; jtwhdJ 
 d. $w;W> fhuzk; ,uz;Lk; rhpahdit  

e. tpil njhpatpy;iy 
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146. Read the following and pick out the wrong statement 
i. Kalabhras are referred to as Kaliyarasars 

ii. Kalabhras were Saivites 
iii. Kalabhras defeated Pallavas and Pandyas 
iv. Ikshavakus supported Vedic sacrifices 
a. (i)    b. (ii)   c. (iii)   d. (iv)  e. Answer not known 
fPo;f;fhZk; $w;Wfis thrpj;J jtwhd $w;iw ntspf; nfhzh;f.  
i. fsg;gpuh;fs; fypaurh;fs; vdf; Fwpg;gplg;gLfpd;wdh;.  
ii. fsg;gpuh;fs; irtj;ij Mjphpj;jdh; 
iii. gy;ytiuAk; ghz;baiuAk; fsg;gpuh; Njhw;fbj;jdh;  
iv. ,f;rthFfs; NtjNts;tpfis Mjhpj;jdh;  
a. (i)    b. (ii)   c. (iii)   d. (iv)  e. tpil njhpatpy;iy 

 

147. Match the following 
A. Dhanvantri   1. Suryasiddantha 
B. Varahamihira   2. Amarakosha 
C. Aryabhata   3. Brihadsamhita 
D. Amarasimha   4. Ayurveda 

A B C D 
a. 1 2 3 4 
b. 4 1 3 2 
c. 4 3 1 2 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf:  
,yf;fpag; gilg;G   vOjpath;  
A. jd;te;jphp   1. #hpa rpj;jhe;jh  
B. tuh`pkpfpuh  2. mkuNfh~h 

C. Mhpagl;lh;   3. gpufpj;rk;fpjh 
D. mkurpk;kh;   4. MAh;Ntjh 

A B C D 
a. 1 2 3 4 
b. 4 1 3 2 
c. 4 3 1 2 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

148. Which of the following was written by Harsha? 
a. Harsha Charitha   b. Priyadharsika  c. Arthasastra    
d. Vikramorvasiyam e. Answer not known 
fPo;f;fz;ltw;Ws; `h;~uhy; vOjg;gl;l E}y; vJ?  
a. `h;~rhpjk;  b. gphpajh;~pfh  c. mh;j;j rh];jphp   
d. tpf;uk Ch;trpak;  e. tpil njhpatpy;iy 

 

149. Where was the temple built for performing royal rituals by Chalukyas situated? 
a. Aihole   b. Badami    c. Megudi    
d. Pattadakkal e. Answer not known 
mur FLk;gk; njhlh;ghd rlq;Ffis elj;Jtjw;fhfr; rhSf;fpauhy; fl;lg;gl;l 
Nfhapy;fs; vq;F cs;sJ?  
a. ma;Nfhy;  b. thjhgp   c. NkFb   
d. gl;llf;fy;  e. tpil njhpatpy;iy 
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150. Foreign merchants were known as __________. 
a. Pattanswamy  b. Nanadesi    c. Videshi    
d. Desi  e. Answer not known 

 may;ehl;L tzpfh;fs; _________ vd;W mwpag;gl;ldh; 
 a. gl;lzrhkp  b. ehdhNjrp   c. tpNjrp   

d. Njrp   e. tpil njhpatpy;iy 
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